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INPEANCJIIOBUE

ITocobue npenHazHayeHO AJISI CTYAEHTOB, U3yYaloluX 9KOHOMUKY
Ha 3a0uHOoM otaeieHuu PITTMY. Ilocobue npeacrasisier coboil cOOpHUK
TEKCTOB, FPAMMAaTUYECKUX U JIEKCUUYECKUX YIPak HEHU I K HUM. TeKCThI
U yIIpak HEHU Sl MOA0MPAUCh B COOTBETCTBUU C MTPOTPAMMOI 00ydeHU I
WHOCTPAHHOMY SI3bIKY Ha 3204HOM OTIEJICHUU.

Llesb mocoOust COCTOUT B TOM, YTOOBI TOMOYb CTYAEHTAM MPUOOPECTU
HaBBIKY MEPEeBOJIa U HAYUYUTHCS TOHUMATh SKOHOMUYECKHUE TEeKCThI Ha aH-
TJIMACKOM SI3BIKE.

ITocobue cocTouT U3 ueThipex yacteit. Hactu 1 1 2 npeaHa3HaYeHbl 1151
CTYIIEHTOB TIEPBOTO Kypca, COOTBETCTBEHHO YacTu 3 U 4 — [JIsl CTYJIEHTOB
BTOporo kypca. Yactu 1 1 3 BKJIIOUAIOT TEKCTHI U YITPasK HEHU ST JIJTSI TEX CTY-
JIEHTOB, KOTOPbIE HE U3yYa i aHTJIMUCKUI SI3bIK PAHBIIE U UM ITPEICTOUT
HayaTh Kypc B YHUBepcuTeTe (pasnenabl 1Jis1 HaunHatomux). Yactu 2 u 4
conepKaT MaTepuaibl Jisi 00y4eHU sl CTYAEHTOB, KOTOPBIE N3yvaiu 0a30BbIi
AHTJIMICKUI B IKOJIE U TETIephb OyIy T MPOI0JIKaTh U3ydeHue (pa3nesbl st
MPOIOIKAIOIINX).

Kaxmast 4acTh COCTOUT U3 TEKCTOB, OXBATHIBAIOIINX PAa3JIMYHBIE IKO-
HOMMYeCKUe TeMbI. TeKCThI COMTPOBOXAAIOTCS CTUCKAMU CJIOB U TEPMUHOB,
KOTOpPBIE PEKOMEHTYeTCsI 3aTIOMHUTh, YUTOOBI PACIIIMPUTH CJIOBAPHBIIL 3arac.

HoBbie coBa 1 9KoHOMUYECKasi TEPMUHOJIOTHST 3aKPETIISIIOTCS JIEK-
CUYECKUMMU YTIIPAaXHEHUSIMU, KOTOPbIE MOTYT BBITIOJIHSTHCS JIOMa UJIU B
KJIacce 1Mo YCMOTPEHUIO TIperoiaBaTelis.

I'pamMmaTHUecKkue yrpaxkHeHMsI, CIeAyIolIKe 3a TEKCTaMU, BKJIIOYAIOT
rpaMmaTudeckue (opMbl U KOHCTPYKIIMK, BCTpeyaronuecs B TeKCTax, 1
MO3BOJISIOT CTYIEHTaM YCBOUTH UJIU TMIOBTOPUTH TPAMMATHUKY U, KaK CJIe/I-
CTBUE, YJIYUYIIUTD NIEPEBOJI TEKCTA HA PYCCKUA SI3bIK.

Kaxpaast yactb mocobuis 3aBepiaeTcss KOHTpOJbHbIMU padboTamu. [1pen-
cTaBjieHO 4 BapuaHTa KOHTPOJIbHBIX pabOT A5 KaxX10To ypoBHS. OnuH 13
BapMaHTOB, YKa3aHHBIH MperoaBaTesieM, BBITIOJHSIETCS B KOHIIE KaXI0TO
Kypca.

Kpome 006s13aTeIbHBIX MaTEPUAIOB TTIOCOOUE CONEPKUT TOTTOTHUTEI b-
HbIe TEKCThl. BOJBIIMHCTBO 3TUX TEKCTOB SIBJISIIOTCS HEOOJBITIUMU OT-
pBIBKaMU M3 Ta3eTHBIX CTaTeil 1 Jal0T MPEeACTaBIeHNe O Ta3eTHOM CTUJIE
MU3y4aeMoro si3biKa.



INTRODUCTION

The handbook is designated for part-time students who study economics
at Russian State Hydrometeorological University. The texts of the book have
been selected to meet the requirements of the University syllabus. The purpose
is to help students acquire the skills in translating English texts on economics
through learning English grammar and economic terminology.

The book is divided into 4 parts. Parts 1 and 3 are meant for the first year,
Parts 2 and 4 for the second year. Parts 1, 2 include texts and exercises for
those students who have never learnt English before and are to start a course
of English at the University. In Parts 3, 4 there are texts for the students who
have a basic knowledge of English and are going to continue the course. Each
text is followed by a list of words and expressions to be learnt by heart in order
to enlarge students’ vocabulary. Grammar forms and constructions as well
as terms students come across in the texts are given in some exercises. The
exercises can be used for work in class or at home at the teacher’s discretion. As
a result of the teaching process students do one of 4 test versions recommended
by the teacher. A set of tests can be found at the end of each Part.

The book is also supplied with additional texts. These texts borrowed from
newspapers and magazines serve as an example of newspaper English.



TEKCT 1
Economics

Economics is a social science, which studies economy. It tries to find laws
or principles and to build models. Then specialists compare their models with
the facts of the real life. It is impossible to describe the content of economics
briefly. Sometimes specialists say that economics is “the science of wealth”.
Economics deals with data on income, employment, interest rate, prices,
production, consumption and trade. Economics deals with a tiny fraction of
the whole human activity. So the range of problems is relatively narrow. But
economics doesn’t include such things as personal finance, way to start a small
business and so on.

Do you know these words?
law 3aKOH
to compare CpaBHUBATH
to describe OIKMCBIBATh
briefly KpaTKo
wealth OGoraTcTBO, 0J1aroCOCTOSIHUE
income JIOXOZ,
employment 3aHSTOCTD
interest rate MPOLIEHTHAs CTaBKa
price eHa
production MPOU3BOJCTBO
consumption noTrpeodaeHue
trade TOProBJIS
range IUana3oH
way crnoco0
activity NesTebHOCTh
YITPAJKHEHMU 51

I. ITepeBenute npeanoxeHus, odpaiiass BHUMaHUe Ha (popMy riaroJjia
to be ¥ 3HaYEHUM ST MECTOMMEHMU it.
1. Economics is a science. It studies laws of economy.
2. Itisavery high income.
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It is difficult to make economic models.

4. Cambridge University Press is the publishing house of the University. It is

the oldest press in the world.

They are students of economics.

6. Microeconomics is a branch of economics. It studies government activity
on individual markets.

7. Micrieconomics and macroeconomics are important branches of

economics.

W

I1. BcraBbTe mpaBuibHY0 OpMy T1aroja to be B HaCTOSIIIIEM IPOCTOM

BpEMEHU.

1. The entertainment industry ... an important sector of the United States
economy.

2. These lectures on economics ... useful.

3. GNP{Gross National Product} ... an important measure of a country’s
wealth.

4. These cars ... expensive.

I1I. Pactipenenuite cyliecTBUTEIbHBIE HA IBE KOJOHKU. B JIeBY10 KOJIOH-
KY 3alMIIUTE CYIIeCTBUTEIbHEIC B ¢IMHCTBEHHOM YHCIIE, B IIPaBylO0 — BO
MHOXECTBEHHOM:
Words, economy, day, world, doldrums, questions, system, money, goods,
resources, country, household.

I'V. UaMeHuTe cioBa U3 MpeablAYyIIEro yrnpaxxHeHUs CAeayomum o0-
pa3oM: U3 EAMHCTBEHHOTO YUCa CAeNaiiTe MHOXECTBEHHOE, a U3 MHOXe-
CTBEHHOIO — enMHCcTBeHHOe. OOpaTUTe BHUMaHUE Ha TO, YTO HE BCE CJI0BA
MOXHO U3BMEHSITh.

V. Hanuwume caedyouwue cyujecmeumenbHsle 60 MHONCECMBEEHHOM HUCAE:
Box, sheep, place, library, photo, mouse, lady, glasses, dress, country, bus,
party, wife, day, knife, knowledge, month, pen, hero, goose, company, life,
deer, tomato, city, man, play, news, child, fruit, shelf, leaf, foot, fish, woman,
money, information.

TEKCT 2
The economic system
There are many forms of economic order, ranging from the mixed system to

partially or completely controlled economies. Economic system is the system
that a society uses for allocation and distribution of scarce resources. Private
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enterprise means that decisions about what and how much to produce are the
decisions of owners and managers. In controlled economies such decisions are
the responsibility of some governmental agency. There is no economy today
that is completely free of governmental influence.

There are many beneficial services and protections available from
government. Any form of economic order performs certain valuable functions
in the life of organizations of all types.

Among the functions of the economic order the most important one is to
provide some means of resource allocation. In a private enterprise the price
mechanism performs this function. This means that demand for and supply of
goods and services interact and set their market price. In the case of regulated
utilities, there are governmental agencies such as public service commissions
that determine the rates.

Do you know these words?

demand (for) cIpoc
supply MpenIoKeHe
means CPEJICTBO, CPEICTBa
to mean 3HAYUTh, 03HAYATH
utility MOJE3HOCTh
rate HOpMa
regardless of HE3aBUCUMO OT...
owner COOCTBEHHUK
mixed CMEIIaHHbII
controlled KOHTPOJIUPYEMbII

YITPAXKKHEHUA

1. Haiinute B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

private TIPOU3BOINTH
to produce LIEHHBI 1
distribution YaCTHBbIM
service BBIMOJIHSTH

to perform ycayra

valuable pacrnipenejaeHue

I1. BcraBbTe am (not), are (not), is (not).

I... a student of mining.

Crop and animal farming ... the main branches of agriculture.
The manager... in the office.

Agriculture and manufacturing ... important in all economies.

N N



You ... a student. You ... a manager of an agricultural company.

Crop farming ... possible in the central regions of Russia in early spring.
I... a student of medicine, I... a student of the economics department.
Fuel... important for all industries.

00 N o W»

III. Cnenaiite ciaenytonire npeajoXkeHss OTPULATEIbHBIMU WU BO-
MPOCUTETbHBIMU, OTBETHTE HA BOTIPOCHI.
1. Crop farming is very important for every economy.
2. Processing is important for all mineral resources.

IV. IlepeBenute npeaioxXeHUs Ha PyCCKUIA S3bIK.

1. There are some new pupils in our group.
2. There is no book on the table.
3. There are many old houses in our street.
4. There are 4 seasons in a year.
5. There is a conference today.
6. There are many large cities in our country.
V. BcTaBbTe HY:XHYIO (hopMYy Ti1aroJa to be (is/are).
1. There ... nobody in the room.
2. There ... 7 days in a week.
3. There ... something on the shelf.
4. There ... many places of interest in London.
5. There ... many beautiful flowers in our garden.
6. There ... much work this week.

VI. Ucnionb3yst KOHCTPYKUMIO there is/are, CKaXXUTE, CKOJbKO:
— KOMHAT B Ballleli KBapTUPE UJIU JIOME;
— IHel B sHBape/ eBpajie/ ampede;
— JIHEli/ MecsI1eB B TONLY;
— YPOKOB/ CTpaHUII B 3TOI KHUTE;
— CTYIIEHTOB B Ballleil TpyTIIe.

VII. Haiinute B Tekcte 060poThl thereis/are. Boimummure ux. Cnenaiite
U3 HUX OTPULIATEIbHBIE U BOMTPOCUTEIbHBIE MPEATIOXKEHUS.

TEKCT 3
Microeconomics and macroeconomics

Economics as a science consists of two disciplines, that is of microeconomics
and macroeconomics.



Microeconomics is the branch of economics that studies individual
producers, consumers, or markets. Microeconomics also studies government
activities such as regulations and how taxes affect individual markets. Besides
microeconomics tries to understand what factors affect the prices, wages and

earnings.

Macroeconomics is the branch of economics that studies the economy as
a whole. It tries to understand the picture as a whole. In particular, it studies
the overall values of output, of unemployment and of inflation.

Do you know these words?

to consist of smth
discipline
syn. Subject
i.e. (Lat.) = that is
branch
producer
consumer
market
on the market
regulation
tax
to levy a tax on smth
to pay a tax
How much income
tax did he pay last year?
to affect smb/smth

COCTOSITh U3 YeTO-T1100
AUCHUITIINHA

OTpaclib; BETBb; puamnan
MPOU3BOJUTEN b, U3TOTOBUTEIb
NoTpeduTe b

PBIHOK

Ha pbIHKE

peryJimpoBaHue

HaJior

YCTAHOBUTH HAJIOT HAa YTO-TUO0
YIJIATUTh HAJIOT

Kakoit nonoxonHbIi HAJOT OH yIUIATUIT
B ITPOIILJIOM Toay?

NeiiCTBOBATH Ha, 3a71eBaTh KOTro/
YTO-JIUO0

YIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

in particular 6e3paboTulia

government BbIpabOTKa, 00beM MPOU3BOJICTBA
price B YaCTHOCTU

wage LieHa

try MPaBUTETbCTBO

output MBITaTbCA

unemployment 3apaboTHas riaTa

I1. HaiinuTe B penyioxkeHusix ckazyemoe B popme Present Simple. ITpes-

JIOKCHU A MEPEBEAUTE.



They are at the airport to meet David Hill.

They see David and come up to him.

Pete and David exchange greetings and Pete introduces Nick to David.
They shake hands and follow Nick to the car.

I also sometimes go to Sheremetievo airport.

I go there to meet or fo see off my friends or colleagues.

NV I NN

II1. Haiinute rnaroasl B Present Simple. IlepeBeaute npeasoxkeHus Ha
PYCCKU A3BIK.
After lunch the businessmen resume their talks.
Mr. Hill proposes a few external visits.
Mr. Smirnov asks him to cut one visit.
David agrees to cut the visit.
They also discuss cultural exclusions.
They agree to meet tomorrow afternoon.
Pete is satisfied with the results of the talks.

Nowus L

IV. YnoTpebus riaros B Hy>XKHO# (popMe, MOCTaBbTe ClEAYIOLIMe MTpe-

JIOXKEHU S B OTPUIIATEIILHYIO ¥ BOITPOCUTEIILHYIO (hOPMY.

1. The plant (to produce) many different machines for farmers.

2. They usually (to grow) flowers in their garden.

3. Agriculture and manufacturing (to provide) hundreds of new goods for
consumers every year.

4. Consumers (to pay) for some extra services, such as medicine, education,
transport.

5. This big company (to provide) fuel for many plants and factories in this area.

V. B tekcre HaiiauTe riaaroibl B Present Simple.
VI. 3apaiiTe 5 BONpOCOB K TEKCTY.

VII. HaiiguTte B TeKCTe KJIIOYEBBIE CJIOBA U COCTABbTE€ KPAaTKMUM MjaaH
nepeckasa. [lepeckakuTe OCHOBHOE CoJiepKaHUe TeKCTa Ha PYCCKOM SI3BbIKE.

TEKCT 4
The economy
The words the economy are words we hear or read almost every day. For
example, we may say that the world economy is ‘in the doldrums’, or ‘the
European economy is making little progress out of recession’ or ‘the UK

economy is beginning to recover’.
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But what does the economy mean? What is an economy? What happens
in one? How does an economy work?

The economy is a social mechanism which answers these questions. The
economy means a system for the management, use and control of the money,
goods and other resources of a country, community or household.

Do you know these words?
in the doldrums B yIaJKe, B COCTOSIHUM 3aCTOS
recession crnaf
to recover OXUBJISATHCS, BBI3IOPABINBATD
to hold up well BBICTOSITh, COXPaHSITh CBOU TTO3UIIUH
control yIpaBJIeHUE; PEeryJIMPOBaHUE; KOHTPOJIb
community SKUTEU OTHOTO paiioHa, o0IHa
household CeMbsI, IOMallIHEEe X03SIMCTBO
economy 1) sxoHOMU KA

2) BKOHOMU $1
VYIIPAXKHEHUA

I. Haiingure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:
world economy 00111ECTBO

to mean pecypc

to work TOBaphI

goods 03HayaTh

resource MUPOBasi 5KOHOMHUKA
country paboTatb

community cTpaHa

I1. a) [lepeBenuTe TEKCT HA PyCCKUU SI3bIK, OOpallasi BHUMaHUE Ha Ha-
cTosiiee MPOJOJIKEHHOE BpEMSI.

Record industry against individual piracy.

The US recording industry is struggling against declining music sales. So
they are considering legal action against individuals who are copying music
from their computers. At the same time the Recording Industry Association
of America (RIAA) is campaigning for the Department of Justice to take
measures against those who offer large amounts of music on popular networks
such as Morpheus.

b) PackpoiiTe ckoOKH1, ynmoTpeOuB riaroj B (popMe HaACTOSIIETO MPO-
noJikeHHoro BpeMeHu. [locTaBbTe MpenioKeHre B OTPULIATEIbHYIO U BO-
MPOCUTENbHYIO (DOPMY.

11



He (think).
They (visit) customers.
We (eat) our lunch.
Luisa (greet) a visitor.
Mary (take) shorthand course.
You (have) lunch.
You (write) a letter.
Sheila (interview) someone.
I (speak) on the phone.
. Helen (sit) in her office.
. The salesman (sell) stationery.
. He (read) a report.
. I (put) these books on the table.
. She (get) on the bus.

SO 0N L s W
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II1. PackpoiiTe ckoOKu, ynoTpeOuB riaroj B (hopMe HaCTOSILIEro Mpo-
JIOJIXKEHHOTO BPEMEHU.
1. I (tobegin) a course in computer programming in a month (4epe3 mecsir).
2. I (to go) to the sea in July.
3. Our students (to have) a lecture in economics by a visiting professor from
England today after classes.
4. This student (to work) at his course paper (kypcoeas paboma) next week.
5. We (not to read) for the exam this week, we (to work) at the course paper.

TEKCT 5
Economic man

There is an assumption in economic theory that individuals act rationally
when they determine their objectives and then take decisions according to
their objectives. Thus, the businessman will set a goal of profit maximization
and will adjust his output and price to achieve his goal. The consumer will
try to maximize his utility or satisfaction and will determine his purchases
in the light of his tastes for products and the relative prices of those products.

Do you know these words?

to determine ONpenesaTh

to take a decision MPUHUMATH pellieHue
profit JIOXOJ,

output 00beM MPOU3BOACTBA
purchase noKynka

12



YIIPAKHEHUA

I. HaiiguTe B mpaBoil KOJIOHKE PYCCKKE COOTBETCTBUSI CASAYIOLIMX CJIOB:
assumption YIOBJIETBOPEHUE

utility LHeb

goal MIPEAITOIOXKEHHE
to achieve MOJE3HOCTh
satisfaction JIOCTUTATh

I1. [TepeBennTe MpemIOXEeHUST HA PYCCKU SI3BIK.

They will keep the tickets until your journey is completed.
She will go to the Baker Street station.

He will not go to the Baker Street station.

He will change trains at Piccadilly.

He will go to Piccadilly Circus.

He will return to the hotel later.

NN AW

IT1. PackpbiB cKOOKHM, yroTpedbuTe rjarojbl B popme Oyayliiero npo-
CTOTO BpEMEHU.
I don’t think this plant (to produce) good radios.
They think the new car (to be) very good.
If you speak English, you (to get) a better job.
When they introduce the new method, productivity (to rise).
If the company raises labour efficiency, it (to become) more profitable.
You (to like) Professor Smith’s lectures in economics.

= I NI SR

IV. TlocTaBbTe TIpenIoXKeH s U3 TIPEIbIIYIIEero YIPaXX HEeHUs B OTPU-
LIaTeJbHYIO U BOIIPOCUTENbHYIO (hOpMYy.

V. Haiinute B TekcTe MpenioxXeHusI, B KOTOPbIX UcToib3yeTcst Future
Simple.

VI. 3anaiite 4 Borpoca K TEKCTY U OTBEThTE HA HUX.
TEKCT 6
Economic Development
Economic progress in Sweden was rapid for most of the postwar period.
The average annual increase in GDP (Grass Domestic Product) was 3.4% in
1950s and 4.6% in the 1960s. This strong growth was due to export successes.

In the 1970s the average growth rate slowed down to 2.1%. In the last decade

13



economic development improved and Swedish industry began to recover from
a recession.

Analysts tried to predict the economic development for the period between
1986 and 1995. They expected Sweden’s annual growth rate of GNP about 2.3%.

Do you know these words?
to be due to 00BACHATHCS
rapid OBICTPBIA
recession pelieccus, cran
increase yBeJMYUBATh
GDP BHYTPEHHU U BaJIOBOM MTPOLYKT
average cpenHui

YITPAZXKKHEHUA

I. Haiigute B mpaBoii KOJIOHKE PyCCKME COOTBETCTBHUS CIAEAYIOLINX CJIOB:
growth ycrex

success pa3BUTHE

toslow down  mpemckasbIBaTh, IPOTHO3UPOBATH
decade pocT

development NecsTUIeTue

to predict 3aMeJISIThCS

II. TlocraBbTe rnarosbl B popmy Past Simple. [TocTaBbTe npenioxeHu st
B YTBEPAMUTEIbHYIO U BOIIPOCUTEIBbHYIO (hOpMY.
He (wake up) at 11 o’clock.
Then he (hear) the church bell.
One morning Fred McLean’s alarm clock (not go off).
It (be) Sunday.
He (see) a taxi, but there (be) someone in it.
He (knock) on the door, but no one (be) there.
He (go) to the bus stop and (wait) for a bus but the bus (not come).
He (put on) his clothes and (run) out of the house.
So he (run) to work.

O 0NN kW=

II1. PackpbIiB cKOOKHU, yIIOTpeOUTe Taaro B (popme Mmpouiealiero npo-
CTOTO BpEMEHU.
1. She (not/to be) at work last week. Her children (to be) ill.
2. The economist (not/to be) in his Moscow office yesterday.
3. The economist’s prediction (to be) correct.
4. We (not/ to be) University students last year.

14



It (to be) difficult for me to learn English at school.

The data (not/ to be) correct enough.

The prices for the services (not/ to be) high at that time.
There (not/ to be) many plants in the area.

The prices for agricultural products (to be) low.

0N oW

I'V. O6pa3syiiTe npenioxeHus, ucroib3ys hopmbl Past Simple. [Tonuep-
KHHUTE 00CTOSITeIbCTBA BPEMEHM.
It is Friday. I (want) the stationery last Friday.
It is 1981. Peter (work) for BOS in 1979.
It is May. He (stop) work in January.
Itis 10.05. I (answer) the telex at 10.00.
It is Monday. They (travel) to Scotland last Monday.
Itis 11 o’clock. Simon (open) the mail at 10 o’clock.
It is November. Mr Passas (visit) BOS in October.
It is Thursday. Simon (post) the letter on Tuesday.

N LA W

V. Haiinute B TeKcTe MpeaJIOKEHUSI, B KOTOPbIX UCIOJIb3yeTcsl Past
Simple, yKaxxuTe B HUX MOJJIeXalllee U CKa3yeMoe.

VI. 3anaiite 4 Borpoca K TEKCTY U OTBEThTE HA HUX.
TEKCT 7
Markets

Markets are usually judged in terms of their economic growth, that is,
how well they have contributed to the achievement of economic efficiency.
Market performance is determined fundamentally by the interaction of market
structure and conduct. There are some parameters which have a strategic
influence on market performance: market conduct, market structure, public
policy. These parameters can be used by public policy-makers to improve
market performance.

Do you know these words?
to contribute BKJIQJbIBATb, AeJaTh BKJa/l
efficiency 3¢bGEeKTUBHOCTD
market performance NeSITeIbHOCTh PhIHKA
conduct noBeAeHue
policy-makers CMeUraJucThl B 00J1aCTU MOJUTUKU
to improve yay4duaTh
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YIIPA2KHEHUA

I. HaiinuTe B IpaBoii KOJIOHKE PYCCKHE COOTBETCTBHUSI CJICAYIOIINX CJIOB:
achievement MOJIMTUKA
to determine  ompeneyasiTh

interaction BJIMSTHUE
influence JIOCTUKEHUE
policy HCI0JIb30BaTh
to use B3aNMOCBA3b

I1. BcraBbTe Hapeuust BpeMeHU: just, already, never, yet, recently, lately.
1. The role of the service sector has increased ....
2. Most manufacturing industries have ... used intensive technologies for
processing resources.
Economists have not given a full definition of economics.
Economists have ... developed three main approaches to economics.
5. — Have you got enough actual data to make a model... ?
— Yes. I have ... finished it.
6. Economists have ... included services that are provided by doctors and
teachers in the primary sector.
7. Economics has ... used models successfully to analyze some difficult
economic problems.
8. — Has the economist made a proper decision ... ?
— No, he hasn’t made it....
9. Microeconomics has... studied the problems of the whole country’s economy.

bl

III. HaiiguTte rnarossl B popMe cTpagaTelbHOIO 3aj10ra U MepeBeIUTe
TIPeIJIOKEHU ST HAa PYCCKUIA SI3bIK.
The famous London black cabs can be hailed in the street.
Some cabs are now painted different colours.
They are bound by the same strict regulations.
They are available for hire if the yellow light above the wind screen is lit.
For longer journeys the price is usually negotiated.
The minimum payable charge is shown on the meter when you hire the cab.
Mini-cabs cannot be hailed in the street.
Mini-cabs are not licensed.
They are usually ordered by telephone.

R N ol

I'V. PackpbiB cKOOKHU, yOTpeOuTe Tj1aroi B hopme cTpaaaTeabHOro 3a-
JIoTa HAaCTOSIIIIETO MPOCTOTO BPEMEHU.
1. The goods (to sell) at a high price.
2. English (to teach) at schools and universities.
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The method (to use) in processing milk.

Goods for consumers (to provide) by industry and agriculture.

Workers (to employ) by firms.

Medicine (not/to study) by school students but economics (to study) at school.
I (to ask) to help my grandmother work in the garden.

I (not/ to teach) music at the University.

O N L s W

V. Haiigute B TeKcTe MpeaIoXKeHMsI, B KOTOPBIX UCITOJIb3YeTCs CTpaaa-
TeJILHBIN 3aJI0T, YKaXKMTe B HUX MOJIeXKaIlee U cKa3yeMoe.

VI. HaiiguTe B TeKCTe BCe Hapeuusl.

VII. BoinuiiuTe U3 TeKCTa BCe CYyLIeCTBUTEIbHbIE BO MHOXECTBEHHOM
qucie.

TEKCT 8
Common Market

In 1992 the European Common Market has 43 years of history behind
it. The organization established by six countries (France, Spain, Holland,
West Germany, Belgium and Italy) has grown to 12 member states. Few more
countries want to join the Common Market.

It is a fact of modern life that some trade, economic, social, technological
projects can not be possible without international cooperation.

In the EC countries there are no trade barriers. The capitals and goods flow
freely. Besides their national currencies the member states have the common
currency called ECU (European Common Unit).

Do you know these words?
active market AKTUBHBIA PBIHOK
capital KarnuTal
to capture the market 3aXBaTUTh PHIHOK
the Common Market OOuIMit ppIHOK
trade TOPIroOBJIS
currency BaJlloTa

YITPAXKKHEHUA

I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CASTYIOIINX CJIOB:
history CBOOOAHO
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to establish pacTu

to grow UCTOpUS
possible OCHOBbBIBATh
freely Ha3bIBaTh

to call BO3MOXKHBI

I1. TlepeBenute npenyioxeHus, oopailiass BHUMaHue Ha nmpuyactue 1.
The price offered by the seller is too high.

It is a low-tech product made in Switzerland.

We speak about the dynamic Asian economy based on manufacturing.
Sales increased by 13% are the result of the company’s new programme.
Today Britain has a mixed economy.

In the public sector of British economic life there are the nationalized
industries such as coal and steel.

Nv AW

I1I. B mepBom aG3alie TeKCTa HAANUTE CKa3yeMoe U OOBSICHUTE, KaKoe
BpeM s ObLJIO UCTOJIb30BAHO.

IV. CocraBbre miaH nepeckasa trekcra. [lepeckaxxuTe TEKCT MO-pPyCCKU.
TEKCT 9
Allocation of products and resources

The pure market economy allocates products and resources without any
government control.

Asto the command economy, practically speaking, it allows the government
to act as a dictator.

Fortunately a community or a country does not have to make a complete
choice between the two extremes: the market economy and the command
economy. Instead it can compromise and have a mixed economy.

In a mixed economy three quarters of production is carried out by the private
sector through the market, though subject to varying degrees of government
control. For the other quarter the government is directly responsible through
the public sector. Thus the government influences the allocation of the goods
and services produced.

Even in the USA, a stronghold of free enterprise, it has been found necessary
to control or regulate national income conditions.

Asto Britain, today it has a mixed economy. In the public sector of British
economic life are the nationalized industries like coal and steel, British Rail
and BOAC. In the private sector are the majority of the nation's industries,
both large and small, from giants like ICI and BP to small family businesses.
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Do you know these words?

subject to MOABEPKEHHbII

to allocate pa3MmeniaTh

allocation pa3mMenieHue

to have to JIOJI>KE€H, BBIHYKIEH

to carry out OCYIIECTBIATH

through yepes, OCpeaCTBOM

to influence BJIUSITH

extreme KPanHOCTb
VIIPAZKHEHU A

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

pure OTPAaCTb TPOMBIIIJIEHHOCTH
to allow HEeOOXOAUMBI I

to act OTBETCTBEHHBI

degree YUCTHIN

responsible MO3BOJISAITh

necessary OOJBIIMHCTBO

industry JeficTBOBaTh

majority CTereHb

I1. TlepeBenuTe npeasioxkeHus, conepxamue npuyactue 1. ObpaTtute

BHMUMAaHMWEC HAa MPUHIMUIIBLI IIEPEBOAA IPUYACTUA I.

L.

w

w

The company’s declining popularity in Japan is the most important
problem in the coming years.

The market share of Toyota is 42.8 per cent, excluding mini-vehicles.
They are speaking about increasing prices.

There are many companies working in the same industry and geographical
area.

Employees of high skill migrate between businesses, seeking the best
opportunity.

They can move out, relocating to a region where competition is less severe.
The increasing world demand is an important factor.

I11. Packpoiite ckoOku, ynoTpeOus raarojsl B Present Simple.
Economists (to study) situations from real life by means of economic models.
Economists (to be) interested in relationship between prices for goods and
buyers’ behaviour.

The buyer (to choose) goods for which he (to have) enough money.

He (not/to follow) our recommendations.

19



The manager (to make) decisions only after careful analysis of all the data.
She always (to buy) a lot of clothes.

The data (not/to be) necessary now. The prices for fuel (to be) very high.
A consumer (to be) a person who (to buy) goods and services.

There (to be) several mining areas in this country.

o oW

IV. IlepeBenute mpeaoXeHUST HA PYCCKUI SI3bIK. YKaXUTE, B KAKOM
BPEMEHU UCITOJIb30BaHbI TJIATOJIbI.
Are you on business in London?
How long have you been in London?
I was in London in 1996.
We have just had lunch.
They are still having lunch.
We had lunch at 8 o’clock.
He works as a manager.
He is working at this company.
He worked at this company from 1990 to 1995.
10 He speaks French fluently.
11. He is speaking English now.
12. He spoke a lot at the conference.

LN AL AW

V. [lepeBenute mpemyioXeHUsT HA PYCCKUI SI3bIK, oOpalasi BHUMaHUe
Ha BpeMeHHbIe (DOpMBI T1aroa.
1. The dollar rose where a fall had been forecast.
2. The figures added to the evidence that the American economy has resumed
stronger growth.
The US deceleration is coming to an end.
The dollar was boosted by US construction spending for November.
With trading thin it sent sterling about a pfennig high.
It gained on strong consumer credit data and rising oil prices.

VAW

VI. Haiinute B Tekcte npeaioxeHus B Present Simple. 3agaiite K HUM
BOMPOCHI.

TEKCT 10

Corporation
A corporation is a business organization authorized by the state to conduct
business and is a separate legal entity from its owners. It is the dominant
form of American business because it makes possible to raise large amounts

of capital.
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Before a corporation may do business, it must receive a charter from the
state. The state must approve the articles of incorporation, which describe the
basic purpose and structure of the proposed corporation.

The stockholders usually meet once a year to elect directors and to carry
on other important business. Each share of stock entitles its owner to one vote.
A stock holder who cannot attend the meeting can legally authorize another
to vote his or her shares by proxy.

Management of a corporation consists of the board of directors who decide
corporate policy, and the officers, who carry on the daily operations. The board
is elected by the stockholders, and the officers are appointed by the board.

Do you know these words?
to conduct business BECTU OU3HEC
to raise (money) cobupaTh (IeHbIU)
an article CTaThs
a stockholder aKIMOHEP
to carry on BeCTH (nesa)
stock 30.aKLIUU
by proxy 3204YHO
to appoint Ha3HayaThb
YITPAXKKHEHUA

I. Haiigute B mpaBoii KOJIOHKE PyCCKWE COOTBETCTBHUS CIAENYIOLINX CJIOB:
state n3bupathb

form BCTpeya

to approve rocynapcTBo

to elect COBET JUPEKTOPOB
meeting 0no0psATh

board of directors dbopma

I1. BcTaBbTe HEOOXOMMMEIEC MOIAIbHBIC TJIATOJIBI UM UX 3aMEHUTEIIN:
(could, shall, be able, can, needn’t, must, couldn’t, should)
1. The goods ... not be shipped last week.
2. You ... remind us of your order, because the goods were already sent to
you yesterday.
We ... handle the orders because we were pressed with time.
The faulty goods ... to be replaced.
... you allow three days for shipment?
«... we discuss this question now?» — «No, we ...— We ... do it tomorrow.
I’'m glad you ... come.

N W
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. «..you ... to come and have dinner with us tomorrow?» — «I’d love to.»
«Please send them this catalogue. — «... I do it now?»
. The payments ... be effected within 24 hours.

\O oo

[a—
o

I1I. TTepeBenuTe NpeAOXEHNUS HA PYCCKUIA S3bIK.
They couldn’t explain anything.
You must make out the order in three copies.
Can you deliver the goods tomorrow?
The customers may take these free catalogues.
You should answer the letter immediately.
The contract must be signed by both parties.
Who must answer this enquiry letter?
The flight must arrive to Moscow at 10.
May we make changes in the contract?
. I have an appointment. We must meet at 10 o’clock.

SO e N U AW

IV. 3ameHuTe MoaaibHbIE IJIaroJbl U3 OpeaAbLAYIICIO YIIpa>kKHCHU A CO-
OTBETCTBYIOIIMMMU 3KBUBAJICHTaAMMU.

V. HaiiguTe B TeKCTe MPEIIOXKEHUSI, B KOTOPBIX YIIOTPEOJISTIOTCS MO-
JIadbHBIC TIaroJIkI.

VI. 3anaiite 5 BONpoCcoOB K TEKCTY U OTBETHTE HA HUX.
TEKCT 11
The Organization for Economic Co-operation and Development

Organization for Economic Co-operation and Development (OECD)
is an international organization whose membership comprises mainly the
economically advanced countries of the world. The OECD provides a regular
forum for discussions amongst government finance and trade ministers on
economic matters affecting their mutual interests, particularly the promotion
of economic growth and international trade, and it coordinates the provision of
economic aid to the less developed countries. The OECD is a main source of
international economic data and regularly compiles and publishes standardized
inter-country statistics.

The Organization for Economic Co-operation and Development has
published a new set of guidelines for multinational enterprises, setting out
the ways in which its member countries would like these global corporations
to behave.
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Do you know these words?

guidelines pEeKOMEeHJaluu

to comprise BKJIIOUATh

amongst cpenu

to affect BJIMSITh, BO3AEUCTBOBATH

would like XOTEJU Obl

matter neyno

source WCTOYHUK
YITPAJKHEHMU 51

I. HalinuTe B mpaBoii KOJJOHKE PYCCKUE COOTBETCTBUS CJIEAYIOLIUX CIIOB:
international ~ maHHBIE
membership MEXTYHAPOIHBII

mutual pa3BUTHIN
promotion YJIEHCTBO
developed BECTHU ce0st
data MpoIBUXKEHUE
to behave B3aMMHBI

I1. O6pasyiiTe CpaBHUTENBHYIO U MPEBOCXOIHYIO CTENEHb OT CAEAYIO-

LIMX TIpUJIaraTeIbHbIX U HApeunii:

1. large, tall, long, easy, hot, big, cold, nice, bad, strong, short, wide, good,
happy, high, low, busy, well, little, many, far.

2. wonderful, necessary, quickly, interesting, comfortable, popular, active,
famous, pleasant, beautiful, slowly, clearly.

II1. PackpoiiTe ckoOKM, yOTpeOUB HYXKHYIO CTEMEHb CPaBHEHUSI TPU-
JlaraTeJIbHOTO/Hapevns:
Shipping by sea is (expensive) than shipping by air.
Moscow is (large) than St. Petersburg.
What is (fast), train or plane?
We offer (low) possible prices.
We offer (good) prices than other firms.
It is one of (important) questions of our conference.
Your English is (good) now.
The goods must be (well) packed when they are delivered by sea.
The prices will be (high) next month.
10 Express delivery is (quick) way to send the goods.
11. The quality of the goods was (bad) than we expected.
12. Today unloading of the goods is carried on (slowly) than usually.

Vo NAU s L~
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IV. IlepeBenuTe npenioxeHus, odpalliasi BHUMaHUe Ha TIepeBO/I CI0Ba
most.
These are the most interesting books on economics.
Keynes is the most famous economist.
Most countries of Central Europe belong to developed countries.
Most reports at the conference were made in English.
Most of the time was spent on the analysis of the statistical data.
Most of his books were translated into other languages.
Most of these journals are bought by the university library.

Nows L

V. PackpoliiTe CKOOKMU:
Winter is (cold) season of the year.
Moscow is (large) than Tula.
Which is (long) day of the year?
The Alps are (high) mountains in Europe.
Even (long) day has an end.
It is one of (important) questions of our conference.
Your English is (good) now.
Who knows him (well) than you?
We have (little) interest in this work than you.
. Health is (good) than wealth.
. Victor worked (well) of all.
. Today you worked (slowly) than usually.

SV oeNU AW

—
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VI. Haitgute B TekcTe nmpusiaratejabHbie. [lepeBeaute ux.
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KOHTPOJIBHBIE PABOTbI

BAPUAHT 1
Mixed economies

Command and market economies both have significant faults. Partly because
of this, an intermediate system has developed, known as mixed economies.

A mixed economy contains elements of both market and planned economies.
At one extreme we have a command economy, which does not allow individuals
to make economic decisions, at the other extreme we have a free market,
where individuals has considerable economic freedom of choice without any
government restrictions. Between these two extremes lies a mixed economy.
In mixed economies some resources are controlled by the government whilst
others are used in response to the demands of consumers.

BAPUAHT 2
Macroeconomics

Macroeconomics is a branch of economics concerned with the analysis
of the economy in the large. It deals with such large aggregates as the total
production, total employment, the rate of economic growth, saving and
investment, the national income and so on.

Macroeconomics measures and analyses overall economic activity.

An important task of macroeconomics is to develop ways of aggregating, i.e.
ways of bringing together or summing primary data. To this end such concepts
as gross domestic product (GDP), aggregate demand, aggregate supply and
the national income were developed. For example, the national income is an
aggregate, in contrast with the income of an individual.

Macroeconomics is concerned with such major policy issues as the
maintenance of full employment and price stability.

BAPUAHT 3
What Do Economists Do?
Economics deals with the problems of scarcity and choice that have faced
societies and nations throughout history, but the development of modern
economics began in the 17th century. Since that time economists have developed

methods for studying and explaining how individuals, businesses and nations
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use their available economic resources. Large corporations use economists
to study the ways they do business and to suggest methods for making more
efficient use of their employees, equipment, factories, and other resources.

BAPUAHT 4
The Nation’s Economy

The economy of the country is like a machine which provides us with things
we need, i.e. goods and services. The economy creates the wealth of the country.
The government through its economic policy plays an important role in the
control of the economy machine. The major branches of economic policy are
fiscal and monetary policies. Fiscal policy deals with taxes and government
spending activities. Monetary policy is concerned with controlling the supply
of money and credit.

A nation’s economy can be divided into three sectors of activity. The primary
sector deals with extraction of minerals, agriculture, fishing, and forestry.
Processing of the primary sector materials and production of manufactured
goods is the field of the manufacturing sector. The service sector provides
services of various kinds such as transportation, distribution, catering as well
as financial services and tourism. The role of the manufacturing sector in the
advanced industrialized countries is decreasing while the service sector is
becoming more important.
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TEKCT 1
What is economics?

One of the things that people discover every day is that you can’t have
everything. You are reminded of it every time you shop. Although you may
see twenty or thirty items that you would really like to buy, you know that you
will have to limit your selection to one or two.

Every business, even sports teams must choose from among the things
they would like to have because they cannot have everything. Governments,
too, cannot have everything. Every year the most important political debates
concern questions about spending taxpayers' money.

Neither individuals nor societies can have all the things they would like to
have. There simply is not enough of everything. Economists note that there is
no limit to the amount or kinds of things that people want. There is, however,
alimit to the resources, things used to produce goods and services, available to
satisfy those wants. Once that limit is reached, nothing else can be produced.
In other words, when nation’s resources (all its workers, factories, farms, etc.)
are full employed, the only way to increase the production of one thing is to
reduce the production of something else.

Do you know these words?
to remind HaroMWHaTh
to shop XOIIUTH TIO Mara3uHaM, JIeJIaTh MOKYTKU
although XOTSI
item npeaMer
you would like BbI XOTEJU Obl
neither...nor HU...HU
taxpayer HaJIOTOIJIATEJIbIUK
available JNOCTYMHBI
society 0011IeCTBO

YITPAJKHEHMU 51

I. HalinuTe B mpaBoii KOJJOHKE PYCCKUE COOTBETCTBUS CJIEAYIOUIUX CIIOB:
to limit 3aBOJL
team NEeHbI'U
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government JOCTUTATb

money OrpaHUYUBATH
amount YIOBJIETBOPATH
to satisfy KOJIMYECTBO

to reach COKpallaTh
factory KOMaH1a

to reduce MPaBUTEIbCTBO

II. ITocTaBbTe CYIICCTBUTCIBbHLIC B CJICAYIOLIIUX ITPECATIOKEHUAX BO MHO-

KECTBEHHOE YMCJIo (00OpaTUTe BHUMaHNe Ha UBMEHEHUSI B MECTOUMEHUSIX
u (popmax rnarosa to be):

L.

0 N oL W

9.

10.
11.
12.
13.
14.
15.

A new house is in our street.
This contract is very important.
The clerk is the office.

Put this letter on that table.
What is his name?

He keeps his papers in a box.
This man works at our office.
I’1l give you the instruction.
The computer was on the table.
This offer is not very interesting.
Is that your best price?

This story is good.

Is this a good match?

The student put his book on the desk.
That house is new.

I11. TTocTaBbTE cJIeayromme CI0BOCOYETaHM A BO MHOXKECTBECHHOC YHUCIIO

(oOpaTrTe BHUMaHME Ha U3MEHEHUS B YKA3aTeIbHBIX MECTOMMEHUSIX):
this man, that match, this tea-cap, this egg, that picture, this foot, that
mountain, this lady, that window, this knife.

IV. BeibepuTe npaBUIbHBIN BapuaHT, oOpaliasi BHUMaHUE HAa UCYUC-

JIAEMBbIC 1 HCUCYUCTAEMBIC CYIIECTBUTEIbBHBIC!

R I NN
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I’'m going to buy new sunglass/sunglasses.
He’s going to buy some new trouser/trousers.
They are going to buy some new furniture/furnitures.

His hair/hairs is fair.

He’s got much information/informations about his travel.
They gave us some advice/advices.




V. Haiinute B Tekcte CYHIECTBUTCJIbHLIC B CAMHCTBCHHOM N BO MHOXKEC-
cTBeHHOM yucie. CaenaiiTe U3 e1IMHCTBEHHOTO yuca MHOXECTBEHHOC, a
N3 MHOKCCTBCHHOTI'O €CAMHCTBEHHOC, ITI€C 3TO BO3MOXHO.

VI. Bormunmwute 13 Kaxkaoro ad3ama Tekcra KirrodeBble ciioBa. CocTaBbTe
KpaTKui MiaH nepeckasa. [lepeckakuTe TEKCT Ha PyCCKOM $SI3bIKeE.

TEKCT 2
Economic systems

An economic system is the way in which a country uses its available
resources (land, workers, natural resources, machinery etc.) to satisfy the
demands of its inhabitants for goods and services. The more goods and services
that can be produced from these limited resources, the higher the standard
of living enjoyed by the country’s citizens. There are three main economic
systems.

Planned economies

Planned economies are sometimes called “command economies” because
the state commands the use of resources (such as labour and factories) that
are used to produce goods and services as it owns factories, land and natural
resources. Planned economies are economies with a large amount of central
planning and direction, when the government takes all the decisions; the
government decides production and consumption. Planning of this kind is
very difficult, very complicated to do, and the result is that there is no society,
which is completely a command economy. The actual system employed varies
from state to state, but command or planned economies have a number of
common features

The state decides precisely what the nation is to produce. It usually plans
five years ahead.

Do you know these words?
complicated CJIOKHBIN
inhabitant XKHUTEb
demand for crnpoc Ha (4To-J11b0)
good TOBap
service ycayra
supply MpeJIoKeHre
the standard of living YPOBEHbB KU3HU
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to enjoy MOJb30BaThCS

to own BJaeTh, UMETH B COOCTBEHHOCTU
amount KOJIMYECTBO
direction yhpaBjeHue
state rocynapcTBo
to vary U3MEHSITHCH
feature 0COOEHHOCTh
YIIPAXKHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

country TMOJTHOCTBIO
land TOYHO

because cTpaHa

use 3eMJIS
completely MOTOMY UTO
precisely MCII0JIb30BaHUE

I1. TlepeBenuTe MpeaJIOXKEHUS HA PYCCKUIA SI3bIK, 0Opaniasi BHUMaHUe

Ha ry1aro to be.

SYoNU AW

—
A o —

N I N

They are still at the restaurant.

She is not with me now.

Is she busy?

He is on holiday in the mountains.

My elder daughter is also in the mountains.
She is fond of skiing.

There are five of us.

This is my family.

I was in Moscow last year.

. Nick and Pete are Russian businessmen.

. One day they were at the Sheremetievo airport.
. Have you been to London?

. Have you been to England?

. Now the businessmen are at the restaurant.

I11. BctaBbTe HYXHY10 (popMYy TJ1arosia to be U mepeBeaUTe MPEaI0KEHUS.
He ... born in 1985.

We ... students now.

We ... good friends in our group.

It ... an interesting book.

Who ... absent today?

He ... a student.



10.
11.
12.
13.
14.
15.
16.

17.

18.
19.
20.
.... you a sportsman?

21
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What ... he?

. ...he adoctor?

These ... my pencils.
Where ... this book? It ... on the table.
What ... their names?
Mary ... a girl.

Who ... he?

What ... you?

This man ... in the room.
How ... she?

How ... you? I ... fine.
How ... your friend?

... he your son?
Tomorrow we ... at home.

IV. BcTaBbte to be B HyXXHOI (hopMme:

There ... a telegram on the table.

... there any telegrams from Moscow? Yes, there ... some.
... there a flight for Moscow tomorrow? Yes, there ... .
There ... much snow last winter.

There ... a lot of stars and planets in space.

... there ... a lift in this building? -Yes, there ... .

Some years ago there ... many old houses in our street.
There ... many places of interest in London.

... there a lamp over the table? Yes, there ... .

. ... there anything interesting in today’s mail?
. There ... 7 days in a week.

. There ... much work last week.

. There ... many new houses in our street soon.
. There ... 4 seasons in a year.

. There ... a conference next week.

. There ... nobody in the room when I came.

V. HCpeHI/I]_HI/ITC NPpCATOXKECHUA B ITPOICAIIICM 1 6y,Z[yH_ICM BpEMEHaXxX:

There is much snow in winter.

There are 4 theatres in our city.

There is no lift in our house.

There are many new books in our library.
There is little milk in the bottle.

There are 3 rooms in our flat.

There is a map on the wall.



VI. Haitnute B TeKcTe IpeniokeHusi c o00opoToM there is/are. Boimuiure
X U IEPEBENUTE HA PYCCKUA S3bIK.

VII. 3apaiiTe 5 BOIPOCOB K TEKCTY U OTBETHTE HA HUX.
TEKCT 3

Economic systems
Market Economy

In industrial countries market is to allocate resources and is the process by
which production and consumption are controlled through prices.

A free market economy has no government intervention, so most modern
economies are mixed with a different dose of government intervention. The
optimal level of intervention is still a problem of great importance.

In free market economies there is not any government regulation of the
consumption, production and exchange of goods. The level of economy
regulation is different in different countries. In some countries it has grown in
recent years, in others more freedom has been granted to firms and individuals.
But the general tendency is to keep government regulation at a high level.

Mixed economies

In a true market economy the government plays no role in the management
of the economy, the government does not intervene in it. The system is based
on private enterprise with private ownership of the means of production and
private supplies of capital, which can be defined as surplus income available
for investment in new business activities. Workers are paid wages by employers
according to how skilled they are and how many firms wish to employ them.
They spend their wages on the products and services they need. Consumers
are willing to spend more on products and services, which are favoured. Firms
producing these goods will make more profits and this will persuade more firms
to produce these particular goods rather than less favoured ones.

Thus, we can see that in a market economy consumers decide what is to
be produced. Consumers will be willing to pay high prices for products they
particularly desire. Firms, which are privately owned, see the opportunity
of increased profits and produce the new fashionable and favoured products.

Do you know these words?
the means of production CpeICTBO MPOU3BOJACTBA
to intervene BMEILIMBAThCS
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supply of capital JNEHbrU, KarmuTas

surplus M30BITOK, U3JIUIIEK

according to B COOTBETCTBUU

to persuade CKJIOHSITh

rather than cKopee ueM

(to) be to JOJIXKEH

consumer NoTpeduTeb
YITPAJKHEHMU 51

I. Haiigure B mpaBoil KOJIOHKE PYCCKKE COOTBETCTBUSI CASAYIONIMX CJIOB:

through TPaTUTh

level XKeJnaThb
consumption  ypoBEHb
private BO3MOXHOCTh
wage MpUOKLIb

to spend MOCPENCTBOM
opportunity noTpedeHre
profit BO3MOXHOCTH
to desire YACTHBIN

O 00NN D

I1. PackpoiiTe ckobku 1 ynotpebuTte raarojsl B Present Simple.
Factories (not/ to use) this method of processing.

Not only goods but also services (to be) important for consumers.

The industry (not/to use) the resources intensively.

The factory (to belong) to a Japanese company.

The primary sector (not/ to include) services to consumers.

There (to be) a lot of agricultural land in this part of the country.
Manufacturing (to grow) fast in the UK and mining (not/ to grow) fast now.
There (to be) several industries which (to belong) to the primary sector.
You (to be) a manager?

I11. Caenaiite caenyoliye NpeajoxXeH s yTBepAUTEIbHBIMU WU OTpULIA-

TeJIbHBIMU B 3aBUCUMOCTH OT CMbICJIa, yIOTpeOuB riiarobl B Present Simple.

woA W —

~ o

Manufacturing industries (to be) important in all countries.

Agriculture (to include) crop and animal farming.

Mining (to belong) to the service sector.

Industries of the primary sector (to process) resources.

Fishing, forestry, and beekeeping (to be) industries of the secondary sector,
they (to belong) to the primary sector.

Countries which (to be) rich in land (to produce) agricultural products.
Mining (to be) a very important industry in Russia.
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8. Agriculture (to provide) goods for consumers and manufacturing.
9. Inindustrialized countries, the service sector (to grow) very fast.

I'V. PackpbIB CKOOKM, yIIOTpeOUTE TjIaroj B ¢popMe HACTOSIILIETO MPO-
JTIOJIXEHHOTO BPEMEHU.
The factory (to employ) new workers now.
They (to study) the economic situation in the area.
I (not/to learn) French, I (to learn) English.
They haven’t sold the products, they (to sell) them now.
The two companies (to compete) in the market.
We (to apply) a new technology.
You (to work) at the report on a macroeconomic problem?
The consumption of fruit and vegetables (to increase) in our country.
Unemployment (to grow) at the moment?

R N A ol

V. Haiinute B TekcTe raaroyibl B ¢opme Present Simple u Present
Continuous. O0bsicHUTE yroTpebieHe JaHHBIX BpEMEH.

VI. Bbl 03HAaKOMMJIUCH C pa3HBIMU TUTTAMU SKOHOMUUYECKUX cucTeM. Yem
OHU OTJIMYAIOTCS APYT OT Apyra? BeImUIIUTE KJII0OUEeBbIE CI0BA, XapaKTepu-
3yIOIIMe TY WM UHYI0 9KOHOMUYECKYIO CUCTEMY.

TEKCT 4
Microeconomics

The word “micro” means small, and microeconomics means economics
in the small. The optimizing behavior of individual units such as households
and firms provides the foundation for microeconomics.

Microeconomists may investigate individual markets or even the economy
as a whole, but their analyses are derived from the aggregation of the behavior
of individual units. Microeconomic theory is used extensively in many areas
of applied economics. For example, it is used in industrial organization, labor
economics, international trade, cost-benefit analysis, and many other economic
subfields. The tools and analyses of microeconomics provide a common ground,
and even a language, for economists interested in a wide range of problems.

Optimization plays a key role in microeconomics. The consumer tends to
maximize utility or satisfaction subject to the constraints imposed by income
or income earning power. The producer tends to maximize profit or minimize
cost subject to the technological constraints under which the firm operates.
Optimization of social welfare sometimes is the criterion for the determination
of public policy.
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Do you know these words?

a key role rJ1aBHas poJjib

to impose obJjiaraTh, HajaraTb

to tend UMETH TEHACHIIUIO, CKJIOHSITHCS

common ground ob11ee OCHOBaHME, OCHOBA

as a whole B LIEJIOM

aggregation COBOKYMHOCTb

applied economics NpUKIaaHas 9KOHOMHUKA

subject to MOABEPKEHHbII

constraint OorpaHUYEeHUE

to operate NIeICTBOBATh
YITPAJKHEHMU 51

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

to mean 3aTpaThbl

to provide 03HayaTh

to investigate =~ GJarococTosiHue
to use 00J1acTh

area IVAama30H

range TIPEIOCTaBISITh
utility HUcclen0BaTh
cost HMCITOJIb30BaTh
welfare MOJE3HOCTh

Ao

Ao

I1. BeiObepuTe mpaBUIbHBII BApUAHT OTBETA.

The site of Windsor (defended, was defended) by William the Conqueror
The building of the Castle (enlarged, was enlarged) continually.

The rooms (decorated, are decorated) with carvings by famous artists.
The furnishings of the Doll’s House (design, are designed} at one-twelfth
lifesize.

Part of the Railway Station (has converted, has been converted) to a
waxworks museum.

The museum recreates the scene in 1879 when a special train (has arrived,
arrived) here to celebrate Queen Victoria’s Diamond Jubilee.

I11. TTepeBenrTe NpeAOXEHUS HA PYCCKUIA SI3bIK.

Payment is received every month.

Documentary letters of credit are opened by the importer’s bank.
The proceeds are reimbursed by the importer’s bank.
Documentary collection bills are presented to the importer’s bank
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Now mail and telegraphic tiansfers are replaced by SWIFT messages.
. A message can be delivered in under 20 seconds.
Over 1 million messages are sent every day.

Now

I'V. PackpoiiTe ckoOKu, ynoTpeduTe riaroj B ¢opMe CTpaaaTeJIbHOrO
WU AEUCTBUTEIBHOTO 3aJ10Ta MOCjie MOJAJbHOrO IJ1aroia.

1. The principle of international cooperation (should/support) by all countries.

2. Private information in the Internet (must/protect) by new security means.

3. Either dry weather or a lot of rains (may/cause) poor harvest.

4. Students and schoolchildren (should/provide) with free Internet service.

5. The government (must/ensure) some benefits for less developed sectors
of economy.

6. In difficult situations an American farmer (may/rely) on bank credit.

7. Most of the large firms (may/produce) one or a few products, for example,

IBM (International Business Machines Corporation) produces computers.
However, the largest manufacturing firms (may/engage) in various industries.

8. More public organizations (must/deal) with ecological problems in order
to restrain exploitation of nature.

V. Haiigute B TeKCTe NpeasIoKeHU s, colepxKallie B cede cTpamaTelib-
HBI 3aJI0T.

VI. Uto Takoe MUKpOIKOHOMMKA? BBIMUIIINTE HECKOJBKO KJIHOUYEBBIX
CJIOB U3 TEKCTA.

TEKCT 5
Market and rates

The foreign exchange market is the market in which the currencies of
different countries are exchanged for one another. The foreign exchange market
is made up of thousands of people all over the world — importers and exporters,
banks and specialists in buying and selling of foreign exchange called foreign
exchange brokers.

The foreign exchange market opens on Monday morning in Tokyo, when it
is still midnight on Sunday in London. As the day goes on the foreign exchange
market also opens in Zurich, Frankfurt, London, New York and finally in
Vancouver and Los Angeles.

Before these last two markets have closed, Tokyo is open again for the next
day of business.

The price at which one currency exchanges for another is called a foreign
exchange rate.
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In the UK there are three possible foreign exchange rate regimes. They are:
1. Fixed exchange rate
2. Flexible (or floating) exchange rate
3. Managed exchange rate.

Under a fixed exchange rate regime, the value of the pound would be pegged
by the Bank of England. Under a flexible exchange rate regime, the value of the
pound will be determined by market forces with no intervention by the Bank
of England. Under a managed exchange rate regime, the Bank of England will
intervene in the foreign exchange market to smooth out fluctuations in the
value of the pound but it will not seek to maintain the pound at an absolutely
constant value for a long period of time.

Do you know these words?
foreign exchange rates OOMEHHBI KypC BaJTIOThI
fixed rate (uKCcUpOBaHHBIN KypC
flexible rate THOKUI Kypc
managed rate YIIpaBJIsSIEMbBIN KypC
to peg MOAAEPXKUBATH
intervention WHTepBeHU M (KYTIs-Tipoaaxa

to intervene

to smooth out fluctuations

constant

syn. permanent
to maintain

value

LIEHTPaJbHBIM OAHKOM BaJIIOThHI C
LIEJIBIO BO3IEHCTBUS HA KyPC
HallMOHAJbHOU BaJIIOTHI)
OCYLIECTBJISITb UHTEPBEHIIUIO
YCTPaHUTh KoJiebaHU S
MOCTOSHHBIN

nogacpXunBaTb
CTOUMOCTDb

YIIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

currency
to make up
world

last
possible
force

to seek

cuia
BO3MOXXHBI
CTPEMUTHCS
BajoTa
nocCJeTHUN’
COCTaBJISITh
MUDP
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I1. PackpbIB CKOOKHU, yITOTpeOUTE T1aroibl B opme Oyay1ero npocToro
BpPEMEHU.
I don’t think this plant (to produce) good radios.
They think the new car (to be) very good.
If you speak English, you (to get) a better job.
When they introduce the new method, productivity (to rise).
If the company raises labour efficiency, it (to become) more profitable.
You (to like) Professor Smith’s lectures in economics.

AU AW

I11. YniotpebuTe npaBuabHbIe POPMBI I1ar0JI0B B MPEAJIOKEHU X C TPU-

JTaTOYHBIMHA BPEMEHU U YCIIOBHUS.

1. Fewer workers (to employ) if the plant buys new equipment.

2. A student should read a lot of additional literature before he (to make) a
report at the conference.

3. Students will be able to work during their summer holidays after they (to
take) exams.

4. The farmers will be able to harvest crops in a short time if the weather (to

be) fine.

The demand for a good may fall when the price (to raise).

The company may ask the bank for a credit if it (not/ to have) enough money.

Students should learn about the consumers’ behaviour if they (to work) as

managers after university.

8. It may be difficult to find a large variety of goods in the country after the
government (to introduce) protective tariffs.

N oW

I'V. PackpoiiTe ckobku, yrnoTpebJisist 060poT to be going to

We (to go) to Paris on winter holiday.

My mother (to watch) TV in the evening.

1 (not to read) any textbooks for the exam, I (to read) my lecture notes.
My friend (to take) a computer course this winter.

These students (to become) economists in five years.

I (to find) a job during my summer holiday.

AN AW

V. B TekcTe HalinuTe NpenioXeHus, B KOTOpbIX ynoTpeodasercs Future
Simple. Beimuiure ux.

VI. O6bsicHUTE, B UeM pa3HULIa MEXAY GUKCUPOBAHHBIM, YITPABISIEMbIM

U TUOKUM KypcoMm? BeIMUIINTE U3 TEKCTA CJIOBA, XapaKTepu3yloliue 3Th
MOHSITUSI.

38



TEKCT 6
Perfect competition

A model of industrial structure in which many small firms compete in the
supply of a single product. Three primary features characterize a perfectly
competitive industry. 1. There is a multitude of firms (buyers as well as
sellers) all too small to have any individual impact on market price. Therefore,
marginal revenue and price are equal. 2. All firms aim to maximize profit.
3.Firms can costlessly enter and exit the industry. Also, it is assumed that the
outputs traded are homogeneous.

Perfect competition is economically efficient.

In the short run, profit maximization ensures that each firm will set its
output so that its marginal cost is equal to its marginal revenue. To produce
when marginal cost exceeds marginal revenue implies that cutting back
production will save more than the revenue lost; and to produce when marginal
revenue exceeds marginal cost implies that expanding production will increase
revenue more than costs. Thus, marginal revenue will equal marginal cost.
Moreover, under the price-taking assumption, the effect is that marginal cost
equals price. This is efficient for the allocation of resources, because it ensures
that no consumer will be deterred from buying something which he values
more than it costs to make.

Do you know these words?
marginal revenue npeneabHbI JOXOL,
short run = short period
perfect naeaabHbII
supply MIpeIIOKEeHUE
feature 0COOEHHOCTh
homogeneous OHOPOIHBIN
to ensure rapaHTHPOBAaTh
costs U3AEPKKU
to cost CTOUTH
to value OLICHUBATh

YITPAJKHEHMU 51

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

to compete BBIUTH
competitive BOWUTU
impact 00BbeM MPOU3BOACTBA
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equal MPEBBIIIATH

to enter BIVSHUE

to exit KOHKYpUpOBaTh

output paBHBbIN

to exceed KOHKYPEHTHBI, KOHKYPEHTOCTIOCOOHbI i

I1. O6pasyiiTe OT mpuUaaraTeJbHbIX HApEUN s U IPUBEAUTE CPABHUTE b-

HYIO ¥ TIPEBOCXOIHYIO CTEIIEHb TeX Hapeumii, KOTOphIE €€ MMEIOT.
Domestic, actual, soon, close, different, rapid, independent, economical, free,
essential, individual, natural, intelligent, local, possible, main, recent, uniform,
profitable.

I1I. O6pa3yiiTe cTeneHu cpaBHEHUS MpUlaraTeJbHbIX, oOpallas BHU-

MAaHUEC Ha apTUKIIN.

L.

% N oL AW

9.

10.

SO N W

—
w o =

N
o

The central regions of the country are (industrialized) than northern
parts.

Living conditions in some Latin American countries are (bad) than in
developing Asian countries.

It was (easy) to make a decision than economists thought.

This is (important) stage in the processing of the product.

Nowadays mining plants use (modern) machines than ten years ago.
Bananas require (hot) climate for growth than potatoes.

Consumers were interested in (cheap) goods of (high) quality.
Sometimes the work of a farmer is (difficult) than that of an industrial
worker.

Food, clothes and a house are (necessary) things for man’s life.

Angola is known as a (little) developed country.

IV. IlepeBenute npeaioxXeHUs HA PyCCKUIA S3bIK:

The more we work together, the more successful is our cooperation.
This brand of coffee is not so expensive as that one.

The lower is the price, the more you can buy.

Repairing cars is as profitable as selling them.

The more profits you get, the more you can invest into your business.
Our business is not as profitable as yours.

The earlier we get your order, the sooner you can receive the goods.
Today our prices are as low as they were a month ago.

The sooner you come, the better.

. Our prices are not so high as those of our competitors.

. The longer you stay in the hotel, the more you pay.

. John knows Russian as well as English.

. The more people know about the product, the better they buy it.



14. The longer is the delay in delivery the higher are the penalties.
15. The more you read, the more you know.

V. BeinuiuTe U3 TekcTa npuarateyibHbie. [IpoaHaau3upyiite ux.

VI. Hanumute 5 npuiaraTejibHbIX, YTOObI OXapaKTepu30BaTh 9KOHOMU-
Ky J11000t OTAENbHO B3sITOM cTpaHbl. [IpuaymaiiTe npenioxeHus, B KOTO-
PbIX 3TU NpUaraTeJbHble MOXHO ObIJIO Obl yIOTPEOUTDb B CPAaBHUTEIbHOMN
U MPEeBOCXOIHOM CTENEHU.

TEKCT 7
Globalization of world economy

Globalization is understood as increasing internationalization of ideas,
science, communication and technology that must be distinguished from
economic globalization. The latter means the process of integration of markets,
great changes in trade and finance and the establishment of the global economy.

The main aim of economic globalization is to change the world into one
dynamic market which has uniform characteristics in different countries.
Globalization should lead to a free mobility of capital as well as to privatization
of the economy and a sharp reduction in government budgets. Besides,
globalization means wide advertising of new consumer products all over the
world, low taxes for producers both domestic and foreign and similar life-styles
for people of different nationalities.

First steps towards globalization in Europe were made by the establishment
of the Common Market in 1993 and the introduction of the “euro” as the new
single currency for Europe on January 1, 1999. Since that time the euro has
been used in foreign trade transactions by the countries which joined the euro-
zone. Euro banknotes were introduced in circulation in 12 member-countries
of the European Union on January 1, 2002.

Do you know these words?
to change into MpeBpalaThCsa
uniform (a) OJMTHAKOBBI I
transaction cieska
to join BCTYMNAaTh, MPUCOECAUHSTHCS
to distinguish from OTJMYaTh
to advertise peKJIaMUpOBaTh
tax HaJjor

to introduce in circulation BBOAUTH B OOpanIeHUE
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YIIPA2KHEHUA

I. Haiingute B mpaBoil KOJIOHKE PYCCKHME COOTBETCTBUSI CASAYIOLINX CJIOB:

to understand  BHYTpeHHMIi, OTeUeCTBEHHBI I
establishment npuBOIUTH

aim co3mgaHue, yCTAaHOBJICHUE
to lead to OCTPbIN

sharp co31aBaTh

low MOHUMATh

domestic HU3KUMN

to make LHeb

II. PackpbIiB CKOOKM, YIIOTpeOUTE r71aro B (popMe MpoleaInero npo-

CTOTO BPEMEHU.

L.

w

Nowe

What data the economist (to analyze) last year? — He (to analyze) the
changes in prices for chocolate.

I (not/to study) economics last year.

My parents (not/to study) economics at the University, they (to study)
medicine.

Trade between the two countries (to develop) well last year.

What goods this firm (to sell)?

They (to make) a correct decision? — No, they ....

Industry (to develop) fast at that time?

II1. PackpbiB cKOOKHU, yIIOTpeOUTe Taaro B (popme Mpoiueaiiero npo-

croro (Past Simple) uyiu Hactosimiero copepuieHHOro BpemeHu (Present
Perfect).

L.
2.

[oe]

42

You ever (to be) to China? Yes, we (to visit) it last month.

I (not/to finish) my report about exports of foodstuffs to developed countries
yet, but I (to find) already the necessary data in the Internet.

In the 1960s, Mexico (to make) great progress in the development of its
light manufacturing industry.

We (to see) just a documentary film on TV about Brazil which (to make)
by the BBC a year ago.

Some African countries (not/to solve) the problem of education for all
population yet, but they (to reach) a success in some industries recently.
The world population (to increase) in recent years because African and
Asian population (to grow) very fast.

The economic growth in China (to be) the highest lately.

The prices for the goods of the company never (to be) so high before.

We (to see) the latest figures about the income per capita in the country,
they (to publish) in a newspaper yesterday.



10.

Since India (to become) an English colony, English (to be) an official
language in the country and most Indians (to speak) it for many years.

IV. HCpCBCI[I/ITC OOJHOKOPECHHLIC CJI0OBA U OIIPCACINTEC, KAIKUMUN YaCTAMU

PCUYU OHM ABJIAIOTCA.

SO NOU e W

globe, globalization, global, globally

establish, establishment, established, establishing

advertising, advertise, advertisement, advertiser

reduce, reduced, reduction, reducing

introduced, introducing, introduce, introduction

competitive, competitiveness, compete, competition, competitor
participator, participation, participate, participating

promotion, promote, promoter, promoting

Europe, European, euro

. circulate, circulating, circulation

V. BcTaBbTe ciioBa U3 pebI Ay iero yrpaxHeHust. O0paTute BHUMaHMe

Ha TO, KaKylo 4aCTb p€uu CJICAYCT UCITIOJIb30BaThb.

L.
2.

The ... in taxes usually stimulates production.

Both small and large companies spend money on ... in newspapers or on
TV to promote their goods and services.

... may help people to move from one country to another easily to seek for
better jobs.

To get more profits companies try to ... goods.

The ... of the single currency has made transactions between different
foreign companies much easier and faster.

The members of the ... Union started to use the ... as the single currency
in...in 2002.

Most countries of Central and Eastern Europe try to join the European
Union as ... in such a union can provide certain benefits in trade.
Famous American companies such as Coca Cola, and McDonalds have
already ... subsidiaries in Russia and they can successfully ... with domestic
producers for consumers.

VI. IlepeBenuTe MpenjioKeHUsT Ha pycCKUiA sI3bIK, 0Opaliasi BHUMaHUe

Ha rjiaroJ to be B KauecTBe CBSI3KU.

RAEI S R

To understand this phenomenon is to understand the structure of market.
To explain this simple fact is not so very easy.

To get the profit in time was then of prime importance.

Our present concern is to discuss the information obtained during the flight.
The problem has been to handle such a transaction.
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VII. Haiinute B Tekcte cirydau yriotpedneHus Past Simple u Present Perfect.

VIII. BeinumuTe U3 TEKCTa CYIIECTBUTEIbHbBIE C XapaKTEPHBIMU CYd-
dukcamu. O6pa3yiiTe OT HUX IPYTrUe 4acTu peuu.

IX. Yto Takoe mimobanu3anus B BallleM MOHUMaHUM? Beimuinure He-
CKOJIBKO CJIOB, YTOOBI OXapaKTePU30BaTh 3TO MTOHSITHE.

TEKCT 8
Business enterprises

Business enterprises usually take one of three forms: individual
proprietorships, partnerships, or limited-liability companies (or corporations).

In the first form, a single person holds the entire operation as his personal
property, usually managing it on a day-to-day basis. Most businesses are of this type.

The second form, the partnership, may have from two to 50 or more
members, as in the case of large law and accounting firms, brokerage houses,
and advertising agencies. This form of business is owned by the partners
themselves: they may receive varying shares of the profits depending on their
investment or contribution. Whenever a member leaves or a new member is
added, the firm must be reconstituted as a new partnership.

The third form, the limited-liability company, or corporation, denotes
incorporated groups of persons — that is, a number of persons considered as a
legal entity (or fictive/artificial “person”) with property, powers, and liabilities
separate from those of its members. This type of company is also legally
separate from the individuals who work for it, whether they are shareholders
or employees or both: it can enter into legal relations with them, make contracts
with them, and sue and be sued by them. Most large industrial and commercial
organizations are limited-liability companies.

Do you know these words?
proprietorships NpeaAnpUHUMATEIbCTBO
partnerships MapTHEPCTBO
limited-liability companies koMmaHu$ c OrpaHUYEHHOM
OTBETCTBEHHOCTbHIO
to sue npecieaoBaTh CyAeOHbIM NOPSIIKOM
enterprise MpeanpusTue
that is TO €CTh
law firm opuandeckas pupma
accounting Oyxrantepus
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brokerage OpPOKEepPCTBO
depending on B 3aBUCUMOCTH OT

YIIPAKHEHUA

I. HaiinuTe B mpaBoil KOJIOHKE PyCCKHME COOTBETCTBUSI CAEAYIOLIMX CIIOB:
entire TUI

property BKJIaJ

type TMOJTHBIA
member BJIAIETH

to own 00JbIION
contribution YJieH

to consider UMYIIECTBO
large paccMaTpuBaTh

II. TlepeBenute mpuyacTUs:
Oo6pasell: receiving nojyyvamumuii — received moay4eHHbI
stating — stated
drawing — drawn
accompanying — accompanied
notifying — notified
signing — signed
affecting — affected
influencing — influenced
following — followed
agreeing — agreed

I11. ITepeBeauTe nmpeagoxeHus, obpaniasi BHUMaHUE HA IPUYACTHbIE

00OpOTHI:

1. We enclose the letter received from the beneficiaries requesting details of
the above transfer.

2. The letter mentioned above should be sent to the beneficiary.

3. The payment order referred to in your previous letter has been received
by the customer.

4. We hope the amount transferred to your bank will be duly (cBoeBpemeHHO)
received.

IV. llepeBenute Ha pyCCKMIi SI3BIK CJIEAYIONINE CJIOBOCOYETAHUS C TTIPU-
YaCTHBIM 000POTOM:
services provided by the company; models made by economists; relationships
studied by them; trade developed by these two countries; crops grown in the
area; income distributed among many people
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V. IlepeBenute npeajgoxeHus, conepxaniyue npuyactue l.

The workers taking part in the competition are sure of the success.

We visited one of the largest plants producing computers in our country.
They discussed the means reducing the cost of production.

It is possible to raise the output, installing the new equipment.

Trying to control the amount of money in circulation, the government
influences the amount of investment, savings and expenditures in the
economy.

I N

VI. Haitnure B TekcTe mpuyactusi. Boimumure nx. HanuiuTe riaarosl,
OT KOTOPBIX 3T MPUYACTU S ObLJIM 0Opa30BaHbI.

VII. Pacckaxurte o cymecTByouux popmax npeanpusatuil. Bernuiure
KJIIOUYEBbIE CJIOBA AJ151 Kax a0 u3 hopm.

TEKCT 9
Monopolies versus Competition

Pure monopoly is a theoretical market structure where there is only one
seller of a commodity or service, where entry into the industry is closed to
potential competitors, and where the seller has complete control over the
quantity of goods offered for sale and the price at which goods are sold. Pure
monopoly is one of two limiting cases used in the analysis of market structure.
The other is pure competition, a situation in which there are many sellers who
can influence neither the total quantity of a commodity or service offered for
sale nor its selling price. Hence, monopoly is the exact antithesis of competition.
It is generally agreed that neither of these two limiting cases is to be found
among existing market structures.

Do you know these words?
to agree corjamarbcs
to be found HaXOIUTHCS
pure YUCTBIN
seller nponaasel|
commodity TOBap NOTpeOIeHUS
to offer mpenjiarath
quantity KOJIMYECTBO
neither...nor HU...HU
neither of HU OJIUH U3...

46



YIIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

seller KOHKYPEHUUS
service cpenu
complete TOUHBIN

sale ycayra

to influence TTOJTHBI T

exact TpojaaBei]
competition npoaaxa
generally BJIUSATH
among B OCHOBHOM

11. BcraBbTe MOganbHbIE TIATONLI must, should, have to wnu to be to B

HYXHOU dhopme.

L.
2.
3.

hdl

SO 0N LW

—
N =

The company... advertise the new product to attract more buyers.

The firm ... provide quality certificates for all its goods.

The government... stimulate the production of necessities and it... prevent
the increase in prices.

The company ... pay taxes on its profits.

The new government policy ... ensure more jobs for population.

The trade policy of the Japanese government in the 1950s ... ensure rapid
economic growth.

I11. TlepeBenrTe NpeaIOXEHUS HA PYCCKUIA SI3BIK:
We have to sign a contract.

You are not allowed to smoke here.

Who is able to do this work?

He had to leave for Moscow earlier.

You are to deliver the goods by the 10th of May.
You are allowed to pay with your credit card.

They were able to do this work in time.

We shall be able to make a reduction in our prices.
You will be allowed to open a current account.

. The remittance of money has to come in time.
. The train is to come soon.
. Will you be able to fulfill all contract obligations?

IV. BctaBbTe MOfabHbI€ TJAT0JIbI can, could, may uav MoganbHbI 000-

poT to be able to B Hy>XHOI1 (hopme.

L.

Even at present computers ... (not) translate from one language into another
without mistakes.
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By means of computer programmes economists ... make more complex
economic models in future.

In the past members of a farmer’s family... produce most necessities on
their farm, such as clothes and other things.

If the company employs a new manager, the productivity ... increase.
The firm was closed as it... (not) to pay its debts.

The librarian says that the students ... borrow books from the library but
only for a week.

Manufacturing ... (not) develop before the Industrial Revolution of the
18th century.

Developing countries ... (not) become economically independent until they
import less than they export.

The scarcity of natural resources... lead to serious conflicts between
countries in future.

V. Ha ocHOBaHUM JIEKCU KU TEKCTA COCTaBBTE 7 IPEIJIOKEHU I, UCTIONb3YS

MOJAJIbHBIC I'J1IaroJibl 1 UX 3aMCHUTCJIN.

VI. Yem uucTasi MOHOIOJIUS OTJIMYAETCS OT YUCTOM KOHKYpeHuu? Haii-

JUTE B TCKCTEC MMOATBECPKACHUC CBOUX CJIOB. BoinuiuTe OCHOBHbBIE TEPMHHBLI,
Kacammuecd 3TUuX I1ByxX TOHSTUN.

TEKCT 10
Monopolistic competition

Monopolistic competition or imperfect competition or imperfect market

is one that is characterized by:
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many firms and buyers, that is, the market is comprised of a large number
of independently-acting firms and buyers;

differentiated products, that is, the products offered by competing firms
are differentiated from each other in one or more respects;

free market prevents new firms from entering the market or obstacles in
the way of existing firms leaving the market.

Do you know these words?
competition COpEBHOBaHUE
to prevent from MelIaTh, NPENsTCTBOBATh
to obstacle MpEensTCTBOBATh, CO31aBaTh
MPETSITCTBU S
one CJIOBO-3aMECTUTE b
that is TO €CTh



YIIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

imperfect COCTaBJIATh

to characterize mnoxkuaaTh

to comprise OTHOILLIEHUE
independently BXoaUTH

respect XapaKTepu30BaTh
to enter HeuJleaabHbIN

to leave HE3aBUCUMO

I1. TlepeBenuTe NpenIOKEHUS C TEPYyHIUEM:

Would you please stop writing to us at this address?

What are your reasons for refusing to pay this amount?

We are grateful to you for sending us the remittance.

Please excuse us for causing all this trouble.

The customers thanked the bank for giving them a loan (3aem).
I like your way of doing it.

Who is responsible for effecting due payments?

We are interested in buying these goods.

We insist on being sent the documents.

R N ol

III. O6benuHUTE CAeAYIOLUIME CIOBA B CHHOHUMUYECKWE Maphl:

to reach, prosperity, to establish, fast, to obtain, area, necessary, to affect, own,
to provide, lately, to manufacture, single, to raise, development, to participate,
adjustment, to promote, agriculture, to supply, industrialized, to engage,
regulation, region, fundamental, to achieve, to create, whole, advanced, to
support, essential, growth, to increase, domestic, animal, to produce, profit,
recently, now, personal, to get, nowadays, total, to take part, various, to employ,
income, rapidly, to stimulate, well-being, farming, only one, to maintain,
livestock, basic, different, to influence

IV. HaiinuTte B Tekcte repyHauii. Kakue elie yactu peun oopasyloTcs
C UCMOJIb30BaHUEM ing- hopm?

TEKCT 11
Organization of Petroleum Exporting Countries
Organization of Petroleum Exporting Countries (OPEC) is an organization
established in 1960 to look after the oil interests of five countries: Iran, Iraq,

Kuwait, Saudi Arabia and Venezuela. By 1973 a further eight countries had
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joined the OPEC: Qatar, Indonesia, Libya, Abu Dhabi, Algeria, Nigeria,
Ecuador and Gabon.

In 1973 OPEC used its power to administer oil prices away from the
American oil corporations and the price of oil quadrupled from $2.5 (American
dollars) a barrel to over $11.50 a barrel. The effect of this was balance-of-
payments deficits in most oil-consuming countries and a period of protracted
world recession. As a result, oil revenues began to fall, to which OPEC
responded by increasing prices sharply again in 1979 from under $15 a barrel
to around $28 a barrel.

OPEC is often cited as an example of a successful producerss CARTEL.
In a ‘classical’ cartel market supply is deliberately restrained in order to force
prices up by allocating production QUOTAS to each member. Interestingly,
in OPEC’s case because of political difficulties formal quotas have not been
used to cut production until very recently.

Do you know these words?
to look after 3a00TUTHCS
oil HedTh
to administer yIpaBasTh
revenue JIOXOT
cartel KapTesb
to force up 3aCTaBUTh ITOBBICUTHCS
to increase YBEJIUYMBATH
to allocate pa3MeniaTh
deliberately YMBILJIEHHO
to cut COKpalIlaThb
because of u3-3a
increasingly Bce 6oJblIe U 00JIbIIIe
case cliyyan
VITPAZKHEHU A

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

to join pearupoBaTh

to use WHTEPECHO
recession LieHa

price crnaj

to fall YCTIETHBII

to respond HCTIOJIb30BaTh
successful MPUCOETNHSTHCS

interestingly nanarhb
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I1. UsMeHuTe MpenioXeHus AByMs CriocodbaMu Tak, YTOObI UCTIOTIb30-

BaTh MHPUHUTHUB LIEJIH.
Oo6pa3zel: Managers study the situation in the market as they want to know
how many goods to produce.

1) Managers study the situation in the market to know how many goods

to produce.

2) Managers study the situation in the market in order to know how many

goods to produce.

L.
2.
3.

We study economics as we want to work as managers.

Farmers grow animals as they want to produce meat and milk.

Factories and plants use fuel and energy as they are necessary to process
resources.

Companies produce goods as they want to sell them.

Mining gets minerals from the earth as it must provide resources for
manufacturing.

Factories process resources as they want to sell them as goods.
Economists make models because they want to use them in economic
analyses.

I11. B rexcte HaitauTe UHPUHUTUB Lieau. [IpenyioxkeHusT BBIMUIIUTE.

I'V. Pacckaxute 06 opraHu3auuu crpaH-skcrnoptepoB HebTu. Hanu-

munTe KpaTKI/Iﬁ IJIaH TEKCTa, UCIT0Jb3Yyd KJIIOYCBLIC CJI0BA.

51



KOHTPOJIBHBIE PABOTbI

BAPUAHT 1
Economic systems

All economic systems must decide what, how, and how much to produce.
Also, they must decide how and to whom the resulting goods and services will
be distributed. In the ideal centrally planned system all economic decisions
are made by a small group of planners, the government owns all property
resources, and the emphasis is placed on the common good. In the ideal market
system private individuals own most factors of production, the government
plays no role in economic decision-making, and the forces in the marketplace
determine answers to the basic economic questions. Almost every country in
the world uses a form of either the centrally planned or the market system. In
practice market economies often adopt some of the characteristics of centrally
planned economies. Similarly, countries using the centrally planned system
will adopt some practices of the market system.

BAPUAHT 2
Profit

It is essential to distinguish a few different concepts of ‘profit.

‘Profit’ in everyday life means advantage or good obtained from something.
Besides it can mean money gained in business.

‘Profit’ for an accountant means simply the difference between total receipts
and total costs.

For an economist ‘profit’ has a much wider meaning. It is the revenue
derived from the use of resources minus the opportunity cost of using those
resources. The economist attaches a cost to the use of retained earnings since
they could receive revenues if used out-side the business.

BAPUAHT 3
Taxation
Taxation means government receipts from the imposition of taxes on
persons’ and businesses’ income, spending, wealth and capital gains, and
on properties. Taxes are used by the government for a variety of purposes,

including (a) to raise revenue for the government to cover its own expenditure
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on the provision of social goods such as schools, hospitals, roads, etc. and social
security payments made to individuals in case of unemployment, sickness, etc.;
(b) as an instrument of fiscal policy in regulating the level of total spending
(AGGREGATE DEMAND) in the economy; (c) to alter the distribution of
income and wealth; (d) to control the volume of imports into the country. In
national income analysis taxation is a withdrawal from the circular flow of
national income.

BAPUAHT 4
Marketing

The American Marketing Association, the organization of marketing
specialists in the United States and Canada, states that “marketing is the
process of planning and executing the conception, pricing, promotion, and
distribution of ideas, goods, and services to create exchanges that satisfy
individual and organizational objectives.” Many people incorrectly believe that
marketing is the same thing as advertising or personal selling. This statement
shows that marketing is far broader activity. Further, this statement stresses
the importance of beneficial exchanges that satisfy the objectives of those who
buy and those who sell ideas, goods, and services.

To serve both buyers and sellers marketing is to discover the needs of
prospective customers and satisfy them. These prospective customers include
both individuals buying for themselves and organizations buying for their own
use (such as manufacturers) or for resale (such as wholesalers or retailers). To
achieve these two objectives is the idea of exchange.
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TEKCT 1
Production Life Cycle

Products have been viewed as having a life cycle. The products life
cycle concept describes the stages which a new product goes through in the
marketplace: introduction, growth, maturity and decline.

The introduction stage of the product life cycle occurs when the product
first enters the market, sales grow slowly, and profit is little.

The second stage of the product life cycle, growth, is characterized by rapid
increases in sales, and it is in the stage that competitor appears.

The third stage, maturity, is characterized by a leveling off of total industry
sales revenue. Also, marginal competitors begin to leave the market. Most
consumers who will buy the product are either repeat purchasers of the item
or have tried and abandoned it.

The decline stage is the beginning of the end and occurs when sales and
profits are steadily dropping. Frequently a product enters this stage not because
of any wrong strategy of the company but because of environmental changes.

Do you know these words?
to level off BBIPaBHUBATh
to abandon smth OTKAa3bIBAThCS
through yepes
stage cTaaus
increase yBeJIUYECHUE
revenue JIOXO]T
either...or WIN... TN
to occur TPOVCXOAUTH
because of u3-3a
YITPAXKKHEHUA
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIOIINX CJIOB:
to describe OTHOCSIIMIACS K OKpYyXawouei cpene
growth cnan
decline poct
to grow nagarb
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profit pactu

rapid YCTOUYUBO
steadily OIKMCBIBATh
to drop OBICTPBI

environmental TpuObLIbL

II. PackpoiiTe cKoOKM, ITOCTaBbTE TJIarojbl B Hy>KHY10 (hopMy cTpajia-

TEJIBHOI'O 3aJiora:

L.

v

LN oW

The faulty goods (to return) to the Seller yesterday.

The production of this company (to exhibit) till the end of the month.
Why this letter (not/to answer)?

The consignment (to take) to the warehouse today, and (to ship) tomorrow
morning.

This room (to use) only on special occasions.

Letters must (not/to type) on bad paper.

This letter (not/to read) because the envelope (not/to open).

Hooks may (not/to use) when loading the cases.

Usually the correspondence (to receive) every day, but it (not/to receive)
yesterday.

. This letter (to leave) unanswered yesterday.

. Thousands of new houses (to build) every year.

. This computer (not/to use) for a long time.

. The amount (to remit) to the Seller tomorrow.

. We (to inform) that the payee has not yet received the funds.
. These funds (not/to credit) to the beneficiaries’ account yet.

IT1. PackpbIB cKOOKHM, ynoTpeduTe rjiaroj B opme cTpaaaTeaibHOTo

3ajiora nmpomeaumero mpocToro BpCMEHU.

O 00NN R W

When this book (to write)?

These goods (to produce) in Great Britain.

Not many bank services (to provide) for clients in the Soviet Union.
I (not/to teach) French at school, I (to teach) English.

Several models (to make) by the economists.

Such a situation (to predict) by economists long ago.

Consumers’ behaviour (to study) by a group of economists.

This plant (to build) 80 years ago.

Who (to make) the manager of the factory?

I'V. PackpbIB cCKOOKHM, yIIOTpeOUTe Iy1aroi B popMe HaCTOSIILIETO COBEP-

HIEHHOI'o BPpEMECHU B CTpadaTCIIbHOM 3aJI0Tr€C.

L.
2.

The degree of concentration (to increase) in this country recently.
Prices of electricity (to raise) already twice this year.
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New wind and water energy sources (to develop).

Applied fields of economics (to teach) to students of different universities.
A high living standard (not/to reach) in most developing countries yet.
How the degree of competition (to influence) by the increase in the number
of firms in the industry?

7. No changes (to make) to distinguish the new product from identical
products.

W AW

V. B TekcTe HaiianTe MPEeaIoXEeHNs, B KOTOPBIX UCITOJIb3YeTCS CTpaaa-
TeJIbHBIM 3aJ10T. OTpenennTe, Kakoe BpeMsl ObLIO UCITOTb30BaHO.

VI. CocTaBbTe KpaTKUii mjiaH TeKcTa. st Kaxk0To MyHKTa MJjiaHa Bbl-
MUIIKUTE KJI04YeBble cyioBa. [lepeckakuTe TEKCT MO-pyCCKU.

TEKCT 2
Factors of Production

The resources that go into the creation of goods and services are called
the factors of production. The factors of production include natural resources,
human resources, capital and entrepreneurship. Each factor of production has a
place in economic system, and each has a particular function. People who own
or use a factor of production are expecting a “return or reward”. This generates
income which, as it is spent, becomes a kind of fuel that drives the economy.

Natural Resources or “Land”

Natural resources are the things provided by nature and used to create
goods and services. They include such things as minerals, wildlife and timber
resources. Economists also use the term “/and” when they speak of natural
resources as a factor of production. The price paid for the use of land is called
rent. Rent becomes income to the owner of the land.

Do you know these words?
good TOBap
service ycayra
entrepreneurship NpeanpUHUMATEIbCTBO
to own BJaJ€Th, UMETh B COOCTBEHHOCTHU
to generate co3xaBaThb
fuel TOMJIUBO
to provide obecrieunuBarhb
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Capital

To the economist, physical capital (or “capital” as it is commonly called)
is something created by people to produce other goods and services. A factory,
tools and machines are capital resources because they can be used to produce
other goods and services. The term capital is often used by business people
to refer to money they can use to buy factories, machinery and other similar
productive resources. Payment for the use of someone else’s money, or capital,
is called interest.

Entrepreneurship

Closely associated with labor is the concept of entrepreneurship, the
managerial or organizational skills needed by most firms to produce goods
and services. The entrepreneur brings together the other three factors of
production. When they are successful, entrepreneurs earn profits. When they
are not successful, they suffer losses. As the reward to entrepreneurs for the
risks, innovative ideas and efforts that they have put into the business, they
obtain the money that remains after the owners of land, labor and capital have
received their payments.

Do you know these words?
tool WHCTPYMEHT
to produce MPOU3BOJUTH
term TEPMUH
interest MPOLIEHT
closely 0J113K0, TECHO
skills HaBBIKW, MAaCTEPCTBO
to bring together COENVHSATh
to suffer losses HECTHU TIOTEPU
to obtain MoJIyyaTh, 1OOUBATHCS
YITPAXKKHEHUA

I. HaiinuTe B IpaBoii KOJIOHKE PYCCKHE COOTBETCTBHUSI CJICAYIOIINX CJIOB:
to include JIOXO]I

each co31aBaTh
people MJaTuTh

to expect KaxX IbIi

income OXUOATh

to create BKJIIOYATh B CeOsT
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to pay B170)10'1

factory MmoJyvaTh
machine MPUTTMCHIBATh

to refer Harpajaa
production 3aBO/I

reward MalinHa, CTaHOK
innovative JaTex

to receive WHHOBAIIMOHHBI I
payment TTPOU3BOJCTBO

II. Ykaxxure, B KaKUX MpeaJIoKeHUIX mOost UMeeT 3HaUeHUe «00JIbIINH-

CTBO».

1. Economist is the most popular profession with young people now.

2. Most economic problems are discussed by the government at the meetings

every week.

The USA is the most industrialized country in the world today.

4. The supply of fuel is one of the most serious problems for most European
countries.

5. The President usually makes the final decision about most social programs
in the country.

6. Most of the lands in the North of the country have not been used yet.

7. The problem of economic independence is most essential for developing
countries.

w

II1. TlepeBeauTe Ha PYCCKUI SI3BIK:

I called every morning to see if there was any news.

He came here to speak to me, not to you.

The car was waiting at the door to take them to the station.

To explain the problem he drew diagrams all over the blackboard.

The steamship “Minsk” was chartered to carry a cargo of timber from

Leningrad to Hull.

6. Under clause 35 the charterers were to supply the steamer with icebreaker
assistance to enable her to enter or to leave the port of loading.

7. To meet the increased demand for industrial goods, a great number of new
shops have been opened in the towns and villages.

8. The first lot is ready for shipment, but to economize on freight we have
decided to ship it together with the second lot.

9. Please send us your instructions at once to enable us to ship the machines
by the 20th of May.

N

IV. Haiinute B TeKcTax mpemyioxXeHus, coaepxkaliiue B ceoe UHOUHUTUB.
Kak onu nepeBoastcs?
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V. Pacckaxkute o (pakTopax npousBoactBa. Kakumu KJioueBbIMU CJ10-
BaMM UX MOXHO OXapaKTepu30oBaTh?

TEKCT 3
GDP and GNP

Gross Domestic Product (GDP) is the total money value of all final goods
and services produced in an economy over a one-year period. Gross domestic
product can be measured in three ways:

a) the sum of the value added by each industry in producing the year’s output

(the output method),

b) the sum of factor incomes received from producing the year’s output (the
income method),
¢) the sum of expenditures on the year’s domestic output of goods and services

(the expenditure method).

Gross National Product (GNP) is the total money value of all final goods
and services produced in an economy over a one-year period plus income from
abroad (interest, rent, dividends and profits). GNP is an important measure
of a countries' general economic prosperity.

Do you know these words?
GDP BHYTPEHHU U BaJIOBOM MTPOLYKT
GNP BHEIIHU I BaJIOBOU MPOAYKT
value CTOUMOCTh
to measure U3MEPATH
measure Mepa
way crnoco0
to receive noJyyaThb
to add J106aBISThH
output 00beM MPOU3BOACTBA
expenditures pacxofibl, 3aTPaThl
YITPAXKKHEHUA

I. HaiinuTe B IpaBoii KOJIOHKE PYCCKHE COOTBETCTBHUSI CJICAYIOIINX CJIOB:
total Ba>KHBIN

sum 3a rpaHuuen
industry o0uUii, CyMMapHbII
domestic MpoLBEeTaHUE

abroad cyMma
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important M POMBIIIJIEHHOCTb
prosperity BHYTPEHHUI, OT€YECTBEHHbI

I1. O6pasyiiTe ClIOXKHBIE CYIIECTBUTEbHbIE U TIEPEBEAUTE UX.
Oopaszei: English, a man — Englishman — aHrnmuyanuH

a school, a girl

aweek, an end

abed, a room

a birth, a day

news, paper

I N

I1I. TTepeBenuTe cieayolre CIOBOCOYETAHUS:

market analysis, labour economics, labour market study, goods and services

prices, growth economics problems, actual economic situation details,
consumer behaviour, future prediction, growth mechanism, agriculture and

manufacturing relationship, mineral resources prices, agricultural product

price growth, area development, trade growth prediction, life insurance,
payment agreement, tin trade, home market prices, meat price decrease, five-
year plan, ten-pound note

IV. O6beaunuTe caeayoume cjioBa B CHHOHUMUYECKUE U aHTOHUMMU-
YeCKUe Taphl:
equipment, to employ, rapidly, social, retired, unemployment, work, to hire, to
seek, active, insufficient, public, area, to look for, employment, region, labour,
machinery, sufficient, private, fast.

V. Hailaute B TekcTe NPpUMEPLI CYLICCTBUTC/IbHLIX B (I)YHKHI/II/I orpeac-
JICHUA 1 BBITTUIIUTE UX.

VI. Pacckaxure, B uem otinure BHIT ot BBII. BeinuinuTe KitoueBbie
CJIOBa, XapaKTepPU3YIOIIUE 3T TEPMUHBI.

TEKCT 4
The law of demand

Demand is a key concept in both macroeconomics and microeconomics.
In the former, consumption is mainly a function of income; whereas in the
latter, consumption or demand is primarily, but not exclusively, a function of
price. This analysis of demand relates to microeconomic theory.

Much economic analysis focuses on the relation between prices and
quantities demanded, the other variables being provisionally constant. At the
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various prices that can prevail in a market during some period of time, different
quantities of a good or service will be bought. Demand, then, is considered as
a list of prices and quantities, with one quantity for each possible price. The
relation between price and quantity is usually called the law of demand.

Do you know these words?
key TJIaBHBIN, KJTIOYEBOU
law 3aKOH
the former MepBbIii (U3 YITOMSIHYTHIX)
the latter MOoCAeIHUI (U3 YTOMSIHYTHIX)
consumption noTrpeodaeHue
variable nepeMeHHas BeJIuYnHa
to buy (bought) MOKyMnaTh
YIIPAXKKHEHUA
I. Haiingure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:
demand JIOXO[T
income BO3MOXHBI
price npeobiagaThb
relation crnpoc
quantity demanded 1eHa
prevail B3aMOCBS3b
possible KOJIMYECTBO crpoca

O oo =

[a—

I1. Yrotpedute rinaros B yTBEpAUTENbHON AU OTpULIATEIbHOM (hopMe.
The term “macroeconomics” (to use) in the 19th century.

The British economist J.M. Keynes (to develop) microeconomics. He (to
write) a book on macroeconomic problems in 1935.

Macroeconomics (to consider) economy in all its relationships.
Microeconomics (to analyze) distribution of products and income among
consumers and firms.

There (to be) an economic depression early in the 1930s. It (to require) the
development of an economic theory.

Development economics (to be) one of the three main approaches to
economics.

High living standards (to achieve) by means of proper government policies.
Foreign firms (to dominate) tobacco industry in Russia in the 1990s.
Russia’s economy (to grow) fast in the 1990s.

0 Prices for fuel and energy (to grow) in this country now.
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I11. PackpbIB CKOOKM, yIIOTPEOUTE IJ1aro B hopme cTpaaaTesibHOro Ui

JNEWCTBUTEILHOTO 3aJI0Ta MPOCTOTO OYAYIIeTro BpeMeHH.

1. When and where (to hold) the next OPEC meeting?

2. With the development of the system of mobile phones in Russia the price
for this service (to fall).

3. The construction of new manufacturing plants (to ensure) economic
security for the country.

4. The price for oil (to change) in accordance with the demand and supply
in the world market.

5. [Iflittle wheat is produced this summer, additional grain (to buy) in order
to meet the demand on the domestic market.

6. New technologies used in modern agriculture mean that no additional
area (to cultivate), but more productive crop varieties (to sow) by farmers.

7. If people continue to cut trees on such large areas, it (to cause) problems
with the supply of oxygen in atmosphere in future.

8. The results of this research work (to recognize) if they are supported with
statistical data.

IV. HaitguTe B TekcTe ciayyau ynoTpeOJeHUs CTpaJaTeIbHOTO 3aj10ra.
IMpennoxenus Beinumute. O6pa3yiiTe OTPULIATEIBHYIO U BOITPOCUTE b-
HY10 hopMmy.

V. 3anaiite 3 Borpoca K TeKCTY U OTBeTbTe Ha HuX. Kakue KiitoueBbie
cJioBa OyOyT MCITOJIb30BAaHEI B BallleM oTBeTe?

TEKCT 5
Changes in consumer demand

Increases or decreases in demand are changes in the quantities that will be
bought at any possible price. Changes in demand are shifts or movements of the
entire demand curve. A shift to the right means an increase in demand. It can
come from any one or a combination of the following: a change in consumer
desire or taste, sometimes caused by advertising; a rise in consumers income; a
rise in the prices of substitutes; or a fall in the prices of complements. Of course,
opposite changes in these factors cause a decrease in demand. An exception
here applies to inferior goods, which are defined as those goods and services
bought in smaller amounts as consumer incomes rise.

In an uncertain economy, especially an inflationary one, price expectation
can affect demand. For storable commodities, when consumers believe that
expected future prices will be higher, buyers tend to increase their current
demand.
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Do you know these words?

commodity TOBap NOTPeOIEHUS

to cause BBI3BIBATH

a substitute TOBap-3aMeCTUTENb

current TEKYLIWI, B HACTOS LU MOMEHT

a complement TOBap-IOMOJTHEHUE

range IUana3oH

increase yBeJIUYECHUE

decrease YMEHbLIEHUE

advertising pekyiaMa

inferior HU3KOE KaYeCTBO
YITPAXKKHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

quantity noabeM

to buy crnaj

shift CIBUT
movement BJIUSITH
curve KOJIMYECTBO
to mean TojlaraTtb
rise KpuBas

fall NBUKEHUE
to affect MOKYTIaTh
to believe 03HayaTh

I1. Betoepute npuuactue I unu Il u nepeBenute cioBocoyeTaHUS Ha
PYCCKU A3BIK:
employers (creating/created) new jobs; wages (paying/paid) to workers;
unemployment rate (going/gone) down under conditions of economic growth;
retirement pensions (paying/paid) from the private pension funds; a man
(applying/applied) for a job; the Internet provider (limiting/limited) free access
to some resources; skills (differing/differed) from those (requiring/required)
by the employers

II1. O6GpasyiiTe U3 caeAyIOLIUX CJIOBOCOUYETAHUN CJIOBOCOYETAHUS C
npuyactueM [ B pyHKIIUU onpeeieHus:
O6pa3eir: a student who is reading — a reading student; incomes that vary from
year to year — incomes varying from year to year
the company that leads in manufacturing mobile phones; the enterprise that is
employing workers; energy scarcity that is increasing; high demand that raises
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prices; scientists who study climate; students who make progress in English;
the degree of risk that is growing; the farm that raises wheat; efficiency that
grows further; a conflict that leads to war

IV. Beibepute npuuactue [ unu I1:

prices (affecting/affected) by market forces; farms (raising/raised) wheat
and other crops; livestock (raising/raised) in southern regions; enterprises
(working/worked) successfully; recently (buying/bought) machinery; supply
of agricultural products (depending/depended) on weather conditions; a book
(dealing/dealt) with problems of education economics, consumption (growing/
grown) every year; differences in buyers’ behaviour (considering/considered)
by the economist

V. Haitnure B Tekcte OPpCaJIOKCHU A, B KOTOPBLIX UCITOJIb30BaHbI ITpruya-
CTUA U MIPUYIAaCTHLIC O60pOTI)I. Boinumure npuyactvud M onpeacinTe, oT
KaKuX rjiarojioB OH1 06pa3OBaHbI.

VI. Yto Takoe nMoTpeOUTeIbCKUi cripoc? YKaxKuTe KJIIOUEBbIE CI0BA,
KOTOPbIE HEOOXOIMMO UCITOIb30BaTh ITPU OTIMCAHUU 3TOTO TEPMUHA.

TEKCT 6
Recruiting

Managers perform various functions, but one of the most important and
least understood aspects of their job is proper utilization of people. Research
reveals that worker performance is closely related to motivation; thus keeping
employee motivated is an essential component of good management. In
business motivation refers to the stimulus that directs the behavior of workers
toward the company goals. In order to achieve company goals, managers must
be aware of workers' needs.

Recruiting good people is a difficult task. It is time-consuming and costly.
But a well-chosen labor force will be more productive than a poorly-chosen
one. Do a good job of selecting and recruiting employee and they will stay with
you. People who work a territory for years build up goodwill for the company;
they become well-acquainted with the customers' needs and are able to give
advice based on experience. Customers place a lot of confidence in such people.
A poorly-selected labor force means a high staff turnover.

A manager who has an understanding of what the employee wants from work
will have a better chance of having more satisfied and productive employees.
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Do you know these words?

turnover TeKy4ecTb (pald. CUJIbI)
recruiting Habop paboyeit CUIbl
to utilize HCII0JIb30BaTh
performance NeITeIbHOCTh, paboTa
to keep MOOIEPKMBATh, COXPAHSIThH
time-consuming TpeOyIolii MHOTO BpEMEHU
costly JOPOTrOCTOSIIU A
employ HaHUMAaThb Ha paboTy
employee pabouuit, cayxkaimii
goodwill (xopolas) penytauus
YIIPAXKHEHUA
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:

to perform pabouast cua

the least HUccaenoBaHUe

research BBIMOJIHATH

closely BaxKHbI

essential HamnpaBJsSTh

to direct HauMmeHee

goal 0J1M3KO

task 1eib

labor force 3ajxaya

advice COBET

AU AW

© o0 N

I1. Haitnute B mpeasioxeHusx repyHauii. [lepesenure npenioxeHus:
We inform you of crediting your account with the sum of $500.

I am grateful for his helping me.

What is the purpose of sending the invoice?

We thank you for sending us your catalogues.

The way of covering is indicated in the Payment Order.

We would greatly appreciate your sending us the duplicate advice as soon
as possible.

We look forward to being of service to you.

We cannot locate receiving the above remittance.

We would appreciate hearing from you in the future.

10 We authorize you to make payment by debiting our account with you.
11. We would appreciate your considering the matter urgently.
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I11. TTepeBenrTe NpeAIOXEHUS HA PYCCKUIA SI3bIK.
I have no hope of seeing him soon.
The idea of spending our holidays on the Volga belongs to my brother.
You can improve your pronunciation by reading aloud every day.
I shall not be able to translate this document without looking up a few
words in the dictionary.
He understands the importance of learning foreign languages.
On receiving the telegram I rang the director up immediately.
In planning your work for next month you should take this into consideration.
I felt great satisfaction in doing this work.
There are special ships for transporting timber.
. I must finish this work before going home.
11. He decided to send her a letter by air mail instead of sending a telegram.
12. He succeeded in finishing his work in time.
13. They have just finished loading the steamer.
14. This work is far from being easy.
15. He is against informing them of it now.
16. I am thankful to you for answering my letter so quickly.

AW -

—_ ~ wn
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IV. IlepeBenute npenjoxeHus. YKaxKuTe 3HaU€HUE CI0Ba «order».

1. In order to run an enterprise efficiently the manager must have industry-
specific knowledge.

2. The words in a dictionary are in alphabetical order.

3. In order to achieve the highest efficiency of the enterprise, the economist
analyzes the production process.

4. The machine now is in perfect running order.

The government takes different measures in order to keep inflation low.

6. Mixed economy is an economic order of most countries in the world.

b4

V. B TekcTe HalliuTe NpenioXeH s, B KOTOPbIX YIIOTPEOIsIeTCs TepyH-
nuii. [TpeanoxeHus nepeBeauTe.

VI. CocrtaBbTe KpaTKuii miaH TekcTta. K KaXk1oMy NyHKTY MJaHa BbI-
MUIINATE KJTIOYEBbIE CJIOBA.

TEKCT 7
Labour market
Labour market is a market that provides for an exchange of work for wages.
The supply side of the market is represented by individual workers or trade unions

bargaining on a collective basis. The demand side of the market is represented
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by firms who are requiring labour as a factor input in the production process.

The determination of wage rates in labour markets depends upon the supply
of and demand for labour. The supply of labour depends upon the size of the
population, school-leaving and retirement ages, geographic mobility, skills,
training and experience, entry barriers to professions and jobs and many other
things.

The demand for labour is influenced by, for example, the size and strength
of demand for the goods and services produced by workers, the proportion of
total production costs, and the labour used in the production process.

The labour market cannot be regarded as a single homogeneous market
but must be seen as a number of separate labour markets each with its own
particular characteristics. For example, a group of workers such as surgeons,
whose skills are in limited supply and the demand for whose services is high,
will receive a high wage rate; by contrast, office cleaners, who require little or
no training or skill, are usually in high supply in relation to the demand for
their services, so their wage rates are comparatively low.

Do you know these words?
labour TPy
market PBIHOK
wage 3apruiara
trade union npodcoro3
input BJIOXKEHU I
determination ornpeaeeHue
to depend (on) 3aBUCETh OT
to bargain 3aKJII0YaTh CASIKU

to account for
to influence
costs

training

in relation to

O0BACHSTH

BJIUSITH

U3IepKKU (MPOU3BOJICTBA)
npodeccuoHanbHasi MOATOTOBKA
10 OTHOILEHUIO K

YIIPAKHEHUA

I. Haiingure B mpaBoii KOJOHKE PYCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:
exchange HU3KU I

basis CyMMAapHBIi

to represent oOMeH

to require MPOU3BOJUTH
rate pasmep

size YPOBEHb, CTaBKa
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strength OCHOBa

to produce OTHOCHUTEIBHO
total MpeACTaBIASITh
homogeneous cuna

low OIHOPOIHBII

comparatively TpeboBarb

I1. O6pa3zyiiTe CpaBHUTENbHYIO U MPEBOCXOIHYIO CTENEHU CPaBHEHU S

IIpuJIaraTeIbHBIX, 0OOpallas BHUMaHNe Ha TIpaBUJia IPaBOITMCAHUS:
few, high, low, fast, easy, cheap, necessary, proper, big, important, essential,
serious, old, expensive, small, early

=N R R AR ol
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I11. TTepeBennTe Ha PYyCCKMUIA:

This book is not so interesting as that one.

The Baltic Sea is not so warm as the Black Sea.
The more you read, the more you know.

My brother is not as tall as you are.

The earlier you get up, the more you can do.
Today it is as warm as it was yesterday.

Your room is as light as mine.

John knows Russian as well as English.

Mary is not so lazy as her brother.

. The longer the night is, the shorter the day.
. The less people think, the more they talk.

IV. O6pasyiite oT mpuaarareabHbIX, CTOSIINX B CKOOKaX, CPABHUTE b-

HYIO MJIU TIPEBOCXOAHYIO CTEIICHDb, B 3aBUCMMOCTHU OT CMBICJIA:

SO NAU AW

[N
o=
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The Trans-Siberian railway is the (long) in the world.

The twenty-second of December the (short) day in the year.
Iron is the (useful) of all metals.

The Neva is (wide) and (deep) than the Moskva River.
Elbrus is the (high) peak in the Caucasian mountains.

His plan is (practical) than yours.

His plan is (practical) of all.

This room is (small) than all the rooms in the house.
London is the (large) city in England.

. Silver is (heavy) than copper.
. This wall is (low) than that one.
. This exercise is (good) than the last one.

V. 3anosHUTE MPOIMYCKU CJIOBAMU as ... as, SO ... as:
The temperature to-day is ... high ... it was yesterday.



He is not ... old ... he looks.

He is ... strong ... his brother.

This street is ... wide ... the next one.

The trunk is not ... heavy ... I expected it to be.
His radio set is not ... powerful ... mine.

She is ... tall ... her sister.

Novs W

VI. HaiiguTe B TekcTe mpuarareabHble. [locTaBbTe MX B MPEBOCXOAHYIO
U CPAaBHUTEJbHYIO CTEIEHb.

VII. Pacckaxute o ppiHKe Tpyna. Kakue KjitoueBble CJ10Ba HEOOXOAUMbI
JUJTSI BaIlero pacckasa?

TEKCT 8
What is a central bank?

Just as a prudent driver keeps an eye on the road and a hand on the wheel,
every country’s central bank watches economic data carefully and adjusts the
money supply in an effort to keep the economy headed in the right direction.

Instead of taking deposits and making loans as normal banks do, a central
bank controls the economy by increasing or decreasing the country’s supply
of money. Cranking up the printing presses is not the only way for a central
bank to increase the economy’s supply of money. In fact, in most modern
economies printed notes and coins are only a small percentage — often less
than 10 percent — of the money supply. Central banks usually print only enough
currency to satisfy the everyday needs of businesses and consumers.

Since most “money” is actually nothing more than a savings or checking
account at a local bank, the most effective way for a central bank to control
the economy is to increase or decrease bank lending and bank deposits. When
banks have money to lend to their customers, the economy grows. When the
banks are forced to cut back lending, the economy slows.

Do you know these words?
wheel 30.pyJib
to keep an eye on CJIEAUTH 3a...
to lend JlaBaTh B3aMbl
data JNaHHbIE
money supply JNIEeHexXHas Macca
to satisfy YIOOBJIETBOPUTH
since TaK Kak, MOCKOJbKY
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savings cOepexeHus
checking account YEKOBBI BKJIa

YIIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

country YMEHbIIAaTh
effort YBEJIMYNBATh
instead cTpaHa

to control MomnbITKa
modern MECTHBIHI

to increase BBIHYXAaTh

local COBPEMEHHBI A

to decrease BMECTO

to force KOHTPOJIUPOBATh

I1. TlepeBenuTe MpeasIOXEHUS HA PYCCKUIA SI3bIK, 0Opaniasi BHUMaHUe
Ha repeBoJ MHOUHUTHABA.
1. To maximize utility is to reach the maximum possible level of utility.
2. To maximize utility, the consumer has to solve the problem of choice.
3. To have no transactions with the rest of the world is to act within a closed
economy.
4. To have some new transaction, our enterprise is ready to sign a contract.
5. To increase spending, the government creates a budget deficit.
6. To create a budget deficit is to reduce taxation and to increase expenditures.
7. To replace most fuels by others is to rise prices for other fuels.
8. To replace old machinery, we should have enough profit.

II1. BctaBbTe MOmanbHbIE TJIAaroibl can, could, may, must.

1. Ifthere are a few firms in an industry, the change in the behaviour of one
firm ... influence other firms.

2. ... developing countries enter the European Union? — No, they....

The firm ... increase its profits by means of new materials or technologies.

4. Any crisis in the economy of the USA... seriously influence the economies

of other nations.

Any country ... follow some rules in international trade.

6. ... Russia supply its population with necessary amounts of gas and petrol? —
Yes, it....

7. British farmers ... (not) ensure the required quality of meat when there was
an infection among animals a few years ago.

8. You ... have a special licence to import or export exotic animals.

w

b4

70



IV. BctaBbre must, should nnu to have to, to be to B Hy>kHOI1 hopme.

1. The building firm ... finish the construction of the new plant this year.

2. There are no parking facilities for manufactured cars, so the company ...

buy some land.

The workers... produce the first 100 cars by the end of the year.

4. African countries ... buy a large part of machinery and equipment for their

plants from developed countries.

The engineers... follow the instructions how to use new equipment.

6. Last year the local government... (not) spend much on transport facilities
as they were well maintained.

7. Companies trading in the world market... ensure high standards.

8. When most countries of Central Europe exhausted their coal resources
they... import large quantities of gas and oil from abroad.

9. The government... spend more money to improve sports facilities in the
country in order to involve more children in sports.

10. Such large countries as the USA and Canada ... (not) import wheat because
they produce this crop on large areas in their countries.

w

e

V. Haitiaute B TekcTe riaroJi to be. O6paruTe BHUMaHUE HA €r0 UCIOJIb-
30BaHUe.

VI. 3agaiite 5 BONpoCOB K TEKCTY U OTBETHTe Ha HUX. [IJ1s1 OTBeTa BbI-
IMUAIINATE KJIIOUYEBBIEC CJIOBA.

TEKCT 9
Forms of money

Many years ago a great variety of commodities (wheat, salt, gold, silver)
served as a medium of exchange in economies based in the division of labour.
At the same time other forms of money developed. They are referred to as
credit money or money without material value because their value as a means
of payment is greater than their nominal value. For example, the paper on
which a £ 100 banknote is printed is worth much less than the banknote's
nominal value. This is also true of most coins used nowadays. In addition
to the notes and coins in circulation, “cashless” means of payment were
introduced.

These include checks, transfer orders and credit cards which became
popular long ago. The progress made in computer technology led to new
forms of cashless payments. These forms of money were called “deposit or
giro money”.
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Do you know these words?

variety pa3zHoobOpa3ue
medium of exchange CpeICTBO OOMEHa
division pasaeneHue
develop pa3BUBATHCS
means of payment CPeICTBO TIaTexa
note OaHKHOTA
transfer order TepeBOTHOM TIIaTeX
in circulation B o0OpalleHuu
giro money JIEHBIU KUPO
YITPAZKHEHU A
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIOIINX CJIOB:
commodity LIEHHOCTb
to serve BKJIIOYATh B ce0s
value BBOIUTH
to print MONyJISPHBIA
coin neyaraTb
to introduce MPUBOAUTH
to include MONyJISPHBIA
popular CIIYXXUTh
to lead to TOBap

I1. TlepeBenuTe MpeaJIOXKEHUS HA PYCCKUIA SI3bIK, 0Opaliasi BHUMaHUe

Ha 3HaYEeHME CYLIECTBUTEIbHOIO means u rjiaroJjia to mean.

L.
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To start business a manufacturer should buy the necessary means of
production.

Nowadays people can easily communicate with each other by means of
the Internet.

Oligopoly means a market condition in which relatively few firms produce
identical or similar products.

A high tariff on imported goods is a possible means to reduce domestic
demand for these goods.

For many developing countries the US assistance meant economic
dependence.

New means of communication have appeared with the introduction of
computers in people’s life.

The development of trade relations will mean larger international
income.



A plane is known as the quickest means of travel to the farthest places on
the earth.
What does the term “economic security” mean in economic theory?

I11. TlepeBenuTe OMHOKOPEHHBIE CJIOBA U OMpeAeanTe, KAKUMU YaCTIMU

PCUYU OHM ABJIAIOTCA.

1. depend, dependence, interdependence, independence, independent

2. necessary, necessities, necessarily, unnecessary, unnecessaries

3. vary, various, variety

4. secure, security

5. relative, relatively

6. profit, profitable, profitability, profitably, profitless, unprofitable

7. maintain, maintenance

8. communicate, communication

9. possible, possibility, impossible, possibly, contribute, contribution,
contributor
IV. BctaBbTe B IIpONYCKH CJI0BA U3 TIPEIBIIYIIETO YIPAaXKHEHHS B HY K-

HOM hopMme.

1. The USA is known as one of the main ... to many international funds.

2. Such means of... as the Internet is widely used by businessmen and in
e-commerce (3JIEKTPOHHAsI KOMMEPIIU ).

3. Alot of technological processes greatly... on the supply of electricity.

4. In economics food, water, clothes and a house are known as the main ...
for man’s life.

5. Ttis ... for companies to provide proper ... systems in order to keep their
future plans secret from competitors.

6. The level of living does not ... greatly in main industrialized countries, it
is ... the same.

7. If costs are higher than the business is... and the firm will go bankrupt.

8. Ttisimportant for national governments to ... trade facilities such as roads,

railways, sea ports, and airports in good condition.

V. O6beArHUTE clienyIolKe CJI0Ba B CHHOHUMUYECKUE U AaHTOHUMMU-

YeCKUe Taphl:

equipment, to employ, rapidly, social, retired, unemployment, work, to hire, to
seek, active, insufficient, public, area, to look for, employment, region, labour,
machinery, sufficient, private, fast.

VI. BoinuiunuTe nepsbie TpU NpeaioxeHus Tekcta. [lonuepkHUTe B HUX

noaaexalmee u CKasyeMoce. B xakom BPEMCHMU BBIPAXKEH IJ1aroj-cka3yemMoce
B OTUX HpCI[J'[O)KeHI/IHX?
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TEKCT 10
Monetarism

The supply of money is the dominant influence on nominal income. The
level of economic activity is determined primarily by the supply of money.

Changes in the money supply are to cause changes in nominal income.
The level and growth of money supply are determined by the actions of the
central bank.

In the long run, the influence of money is on the price level and other
nominal magnitudes. In the long run, real variables, such as real output and
employment, are determined by real, not monetary, factors, such as the stock
of capital goods, the size and quality of the labour force, and the state of
technology.

In the short run, supply of money influence real variables. Money is the
dominant factor causing cyclical movements in output and employment. In
the short run, prices, including wage rates, are not perfectly flexible. Hence,
when the quantity of money changes, prices do not make the full adjustment.
Output and employment are also affected.

The private sector is stable. Instability in the economy is primarily the
result of government policies.

Do you know these words?
money supply JNEHexXHas Macca
(to) be to JOJIKeH (MOIAabHbBIN TJ1aro.)
long run JUTATENIbHBINA MIEPUOLL,
magnitude BeJIMUYMHA
variable nepeMeHHas BeIu4nHa
stock 3amnac
capital rJ1aBHBI, OCHOBHOM
state COCTOSHUE
employment 3aHSTOCTD
wage rate YPOBEHbD 3apIlIaThl
to make adjustment MpUCIocabauBaTbCs
to affect BJIMSITh, BO3AEMUCTBOBATH
YITPAJKHEHMU 51
I. HalinuTe B mpaBoii KOJJOHKE PYCCKUE COOTBETCTBUS CJIEAYIOUIUX CIIOB:
influence LieHa
level B OCHOBHOM
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primarily MOJIUTUKA

to cause BJIVSHUE

to determine BbI3bIBaTh
price TUOKU A

size JNIBUXKEHUE
quality CTaOUJIbHBI
movement KauyecTBO
flexible YPOBEHb
stable pasmep
policy OIpenesiTh

II. PackpbIB cKOOKU, yIOTpeOUTE I1aroi B ¢opMe HACTOSIIEro U

opomeamero nmpocToro BpEMCEHU B JIeCTBUTENBLHOM JIMOO B CTpagaTeiib-
HOM 3aJiore.

L.
2.
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Economists (to consider) a firm as an economic unit.

The company (to distribute) its goods in many Russian cities but some
goods (to distribute) in European countries.

The family income (not/to rise) last year.

Consumers (to provide) with both goods and services in this supermarket.
The living standard of population (to fall) last year?

New workers (to employ) by the company every year?

II1. PackpoiiTe cKOOKM, yKaxKMTe BpeMs rjiaroja:

He (know) several foreign languages.

We (learn) about this from your letter.

Usually the delivery (begin) after our reception of your payment.
He often (visit) them last year.

As arule we (sell) the goods by lots.

She (work) abroad next year.

She (not/receive) the mail yesterday.

Our customers usually (ask) many questions.

At present he (work) with a big trade firm.

. Mr. Smith is not in. He (go) away five minutes ago.

. He (write) the letter but he (not/send) it.

. We already (made) the order.

. I (not see) him for three years.

. She (answer) it on Tuesday.

. When the inspectors (arrive)? — They (arrive) tomorrow at 2.00.
. He (go) to Moscow next week?

. I can’t go out because I (not finish) my work.

. L already (tell) you the answer yesterday.

. We already (answer) your letter.
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20. We just (send) you our quotations.

21. What she (do) now? — She (type) the contract.
22. They (go) to Moscow some days ago.

23. We (discuss) your plan tomorrow at 10 o’clock.

IV. IIpoananusupyiite TekcT. Onpeaeanre, Kakue BpeMeHHble (hOPMbl
OBITA UCTIOTb30BaHEI.

V. 3apaiiTe 4 Bonmpoca K TeKCTY U OTBEThTe Ha HUX. BeimumuTe Kitoue-
BbI€ CJI0Ba, HEOOXOAMMBIE 17151 OTBETA.
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KOHTPOJIBHBIE PABOTbI

BAPUAHT 1
Free Market

In a free market, competition takes place among sellers of the same
commodity, and among those who wish to buy that commodity. Such
competition influences the prices prevailing in the market. Prices inevitably
fluctuate, and such fluctuations are also affected by current supply and demand.

When people who are willing to sell a commodity contact people who are
willing to buy it, a market for that commodity is created. In a perfect market,
communications are easy, buyers and sellers are numerous and competition
is completely free. In a perfect market there can be only one price for any
given commodity: the lowest price which sellers will accept and the highest
which consumers will pay. There are, however, no really perfect markets, and
each commodity market is characterized by special conditions. It can be said,
however, that the price ruling in a market indicates the point where supply
and demand meet.

BAPUAHT 2
Stability and Efficiency

All economic systems try to keep the business cycle stable. The business
cycle reflects fluctuations in economic activity that recur over a period of
years. An ideal business cycle produces a gradual, steady rise in output. In
reality, there are periods of decreasing as well as increasing activity, which can
be dramatically sharp. The practical goal of an economic system is to make
these fluctuations as smooth as possible. In practice it seeks to maintain steady
average wage and price levels.

The second fundamental goal of economic systems is efficiency. A society
must make the best use of its limited store of resources. Two types of efficiency
are important. Technical efficiency refers to “full employment” of resources or
the production of maximum output using available inputs in the most efficient
manner. Economic, or allocative, efficiency refers to the match between
individual preferences and the economy’s products. When an economy is
economically efficient the goods and services which it is producing match the
purchasing preferences of its customers.
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BAPUAHT 3
Commercial Banking

Commercial banks are designed to make a profit for their stockholders.
They receive money in the form of deposits, savings or repayments from the
public, then lend it at interest to borrowers. Profit is made primarily from
interest. Obviously, banks do not keep most of the money they receive; indeed
the bank will have on hand only enough to pay those customers who want to
withdraw their money on a given day. A modern bank usually needs no more
than 2 percent of its money in cash. Yet law requires the same bank to deposit
a sixth or seventh of its resources in non-earning funds.

BAPUAHT 4
The World Bank and the International Monetary Fund

World Bank or International Bank for Reconstruction and Development
is a multinational institution set up in 1947 (following the Bretton Woods
Conference, 1944) to provide economic aid to member countries — mainly
developing countries — to strengthen their economics. The Bank has supported
a wide range of long-term investments including infrastructure projects
such as roads, telecommunications and electricity supply; agriculture and
industrial projects including the establishment of new industries, as well as
social, training and educational programmes.

The Bank’s funds come largely from the developed counties, but it also
raises money on international capital markets. The Bank operates according
to ‘business principles’ lending at commercial rates of interest only to those
governments who are able to repay their debts. In 1960, however, it established
an agency, the International Development Association, to provide low-interest
loans to its poorer members.

Another affiliate of the World Bank is the International Finance Corporation
which can invest directly in companies by acquiring shares.
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TEKCT 1
Functions of money

People accept money in exchange for goods and services. But the role of
money depends on the state of development of an economy. Money has become
an essential element of economies based on the division of labour, in which
individuals have specialized in certain activities and enterprises have focused
on manufacturing specific goods and rendering specific services. In order to
make transactions as simple and efficient as possible, the introduction of a
generally accepted medium of exchange is necessary.

Money performs the function of a medium of exchange or means of
payment with goods being exchanged for money and money for goods. At the
same time it also acts as a unit of account.

Money is a store of value, as part of an individual’s income may be set aside
for future consumption.

These three functions of money — medium of exchange, unit of account and
store of value — can only be fulfilled if there is great confidence in its stability
of value. Safe monetary stability is the primary task of the central banks all over
the world. Moreover, the central bank has the function of regulating the money
supply in order to guarantee a smooth functioning of the monetary system.

Do you know these words?
money supply JIeHeXXHasl Macca
to render a service MPEeAOCTaBISTh YCIYTy
in exchange for B OOMEH Ha...
to depend on 3aBUCETh OT
essential CyLIECTBEHHBI
division pasaeneHue
to manufacture TIPOU3BOIUTH
medium of exchange CpeAcTBO oOMeHa
means of payment CPeCTBO TIIaTexa
unit of account €IVHNUILIA CYeTa
same TOT Xe (CaMblii)
store of value CPeICTBO COEpEeXEHU ST
confidence JoBeEpuUe
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YIIPA2KHEHUA

I. Haiingute B mpaBoil KOJIOHKE PYCCKHME COOTBETCTBUSI CASAYIOLINX CJIOB:

to accept 3ajgava
development 0COOEHHBI I
certain MpeanpusTue
specific oTpe/ieJIeHHbI i
enterprise MUP

to perform MpPUHUMATH
to act TIaIKUA
consumption  pa3BuTHE
task noTrpeodaeHue
world BBITIOJTHATH
smooth JIEiCTBOBATh

II. TTocTaBbTe r1arojibl, IaHHbBIE B CKOOKAX, B HY>KHY10 (hOpMYy.

1. The degree of economic interdependence between different countries in
the world (to increase) today as a result of close trade relations.

2. Even now the protective tariffs (to impose) on the export of some
manufactured goods from Latin American countries to Europe.

3. Modern and improved transport facilities (to build) in Moscow in the
near future.

4. Some economists (to think) that such organizations as the World Trade
Organization, the International Monetary Fund, and the World Bank
(may/to replace) by new organizations in order to develop new trade and
investment rules.

5. Harvard University (to have) this name because in 1638 John Harvard
(to leave) all his money to a school that later (to become) the well-known
university.

6. You (to lose out) if you (to pay) in dollars when their value (to fall).

7. If the company (to establish) a subsidiary in this country, its goods (to
become) cheaper and more competitive in Russia.

I11. PackpbiB ckOOKHM, ynoTpeOUTe I1arosi B Hy>xkHoit (popme (Past Simple
Tense, Present Simple Tense, Present Perfect Tense), B meiicTBUTEITLHOM UJTH
CcTpanaresbHOM 3aJioTe.

1. The European Economic Union (to form) in 1958.

2. A new policy of advertising goods (to introduce) by the firm recently.

3. Not much money (to require) for the company to start business a month ago.

4. The OPEC (to include) many oil producers, however, it (not/to supply) all
the world’s oil.

5. The market for computers (to increase) since the prices for old models (to fall).
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9.
10.
11.

12.
13.

The government (not/to cope) with the problem of high unemployment yet.
Russia (to know) as an important oil producer in the world market.

The USA and Canada (to become) the members of the Organization for
Economic Cooperation and Development in 1960.

What (to cause) energy scarcity in recent years?

Global energy crisis (not/to take) place for the last five years.

The number of workers engaged in the service sector in the USA (to grow)
in recent decades.

What industrial economics (to deal) with?

Consumption of foodstuffs (not/to rise) lately.

IV. BcraBbTe ciioBa B Hy>kHoI (popme: to deal with; a competitor; applied;

various; loss; recent; to cope with; to engage; closely connected; scarcity; to
influence; profit; an adjustment; equipment; a consumption; an enterprise (2);
a competition; a degree; a rise.

L.
2.

11

13.
14.

The economics of energy is... with industrial economics.

Labour economics ... such problems as employment, unemployment,
education etc.

Agricultural economics as one of the ... fields is very important for countries
with a large agricultural sector.

Governments in developing countries try... the problem of economic
dependence on developed countries.

There is a great... of qualified specialists such as teachers, doctors,
mechanics in agricultural areas.

The behaviour of a monopolist greatly ... the price for the industry’s
products.

Sometimes government ... are necessary to protect domestic producers
from foreign ....

There is a strong... among large companies in the world market.

The ... of price control is low in this country.

. Any manager studies the ...and ... of his company before he makes decisions

about its work.

. There are manufacturing ... as well as agricultural... in this area.
12.

... universities and laboratories have been invited by the government to
work at this project. Now very many qualified specialists are ... in this
work.

The ... in ... of oil products has increased their price.

A lot of new... has been bought by the factory in... years.

V. Ilpoananusupyiite nepsuiii ab3all Tekcta. Kakue BpeMeHHbIe GOpMbI

OBIJIN UCITOJIB30BaHbBI?
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TEKCT 2
Gradualist Monetarism

If the Central Bank increases money supply, according to Gradualist
Monetarists, the reaction of the economy is reflected in an increase in prices to
more extent than an increase in output. Although there could be a rise in output
as well. Restoration of output till the potential level can take longer time than
the New Classical economists think. The wages are rather rigid in the short-run.

Fiscal and monetary policies could be effective in the short-run, but
government policy is, in general, undesirable. The economy will automatically
return back to the full-employment level any way. In the long-run, the government
policy will lead to inflation, as the output stays at the full-employment level.

The government should keep money growth at a low and constant rate. The
low rate of money growth ensures no inflation in the long-run; the constant
level of monetary increases leads to no exacerbating cycles in the economy.
On the other hand, tight monetary policy is not recommended; it can lead to
a slump because wages and prices adjust only slowly. And there should be no
sharp changes in government policy. Only gradual ones must be implemented
in order to give the economy time to adjust wages and prices. Hence, the aims
of the government policy are to increase the potential output and to prevent
or to reduce inflation.

Do you know these words?
money supply JeHeXXHasl Macca
on the other hand C IPyTrOil CTOPOHBI
exacerbate YCUJIMBaATh, 000CTPSTh
slump pe3Kuii cnaa, KpU3uc (3KOH.)
to more extent B OOJIblIIEH CTeneHU
according to B COOTBETCTBUHU C...
policy MOJIUTUKA
short run KOPOTKU MepHoj] BpeMeH!
as well TaKXe, TOXe
rate YPOBEHDb
tight KECTKU A

YITPAXKHEHUA

I. HaiinuTe B IpaBoii KOJIOHKE PYCCKHE COOTBETCTBHUSI CJICAYIOIINX CIIOB:
to increase TMTOCTENEeHHBIN
to reflect pe3kuit
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level lymMarhb

to think YAEPXKUBATH

to lead to COKpallaTh

to keep YPOBEHb

to ensure OoTpaxaTb

sharp MOBBIIIATH
gradual npeaoTBpallaTh
to prevent NPUBOAUTH

to reduce obecneyuBaTh

10.
. There (to be) forces in the Parliament that opposed the decision which (to

11

I1. PackpbIB CKOOKU, yIIOTpeOUTE I1aroibl B Hy>KHOM hopme.

In the past clothes (to make) by individuals, now clothes (to make) both by
individuals and at big factories.

Some years ago the plant (not/to manufacture) televisions, it only (to
manufacture) radios. Now both radios and televisions (to manufacture) here.
Such a situation (not/to predict) by the group of economists who (to study)
the problem last year.

Prices for fuel (to grow) last year?

Industrial products (to manufacture) in the area? — No, it is an agricultural
area. Only some agricultural products (to process) here at small factories.
The plant (not/to employ) new workers this year.

All data (to consider) before a decision (to make).

High living standards (to achieve) in West European countries after World
War I1.

Unemployment (to be) very high in the 1930s in the USA.

The market of services (to develop) very fast in Russia in the 1990s.

make) by the government.

I11. U3mMeHuTe npeasiokeHust, yrmoTpeOuB riaroj B popMe cTpagaTesib-

HOro 3aJjora.

o N L e WL

9

10.

Banks provide new services for consumers.

Economists use models in order to study actual relations in an economy.
The economists predicted the growth of unemployment.

We consider individuals as suppliers of labour and capital.

The government achieved high employment.

The economist chose correct methods and models for his analysis.

They employ many workers in the service sector.

They developed mining industry in the 19th century in Great Britain, but
in the 20th century they closed down many mines.

He wrote the book in 1968.

They followed these principles in the analysis of the economic situation.
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IV. UsmenuTe ciaenytouime npeaaoxXeHus, ymoTpeOuB rj1aroibl B opme
CTpanarejbHOTO 3aJI0Ta.
1. They are raising labour efficiency by means of new machinery.
2. The government policy is changing economic conditions in the region.
3. The economists are studying the distribution of labour force in the country.
4. They have bought new equipment.
5. Demand and supply influence prices of goods.
6. Japan produces a variety of electronic equipment.
7. They are developing a new technology to use less oil.
8. They are analyzing natural conditions of the region.
9. The company has increased prices of its goods.
10. Under conditions of competition companies are introducing new better products.

V. TlepeBenute MpenyiokKeHUs Ha PYCCKUU 3bIK, oOpaliasi BHUMaHUe
Ha GyHKIMIO UHPUHUTHUBA.

1. Tasked you to come to inform you of it.

2. T'will take a taxi not to miss the train.

3. He is not strong enough to take part in such an expedition.

4. Heistoo tired to go there now.

5. T'have come in order to speak to you about an important matter.

6. He went to the library to take the magazines and books which he needs for
his examination in Political Economy.

7. He is clever enough to understand it.

8. He read the rule several times in order to understand it better.

VI. HaiinuTe B TeKCTe NMPEAJIOKEHUSI, B KOTOPBIX UCIMOJAb30BaH CTpa-
aTeabHBbIN 3aJI0T.

TEKCT 3

Pure Exchange
Part 1

Assume there is a market where there are individuals, each of whom starts
with given amounts of various commodities. Each one would like to make
trades that will result in a number of goods preferred to those goods to be
exchanged. The theory assumes that for each trader the purpose of trade is to
improve the trader’s position. Hence, the trader would not willingly leave the
market with the goods worth less than his or her initial holdings. The theory
also assumes that each trader owns the commodities to be traded and they
can be traded on terms that are possible for the parties directly involved in an
exchange. Each trader may accept or reject the terms offered.
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Do you know these words?

to result in MPUBOAUTH K YeMY-JTUOO0

amount KOJIMYECTBO

commodity TOBap NOTpeOIeHUS

to exchange 0oOMeHUBaTb

holdings BKJIaJIbl

to own BJIANETH

on terms Ha YCIIOBUAX

party CTOpOHA (y4yacTBYIoOIllasi B CAEKE)
Part 2

Competition requires voluntary exchange so that no trader is compelled
to accept or reject offers without freely given consent. The exchange implies,
therefore, a voluntary agreement among those who are directly involved in the
transaction on the terms that each one willingly accepts.

In pure exchange, although the total quantity of the commodities exchanged
among the parties is constant, each one must regard the obtained goods as worth
more than the exchanged goods. If the parties can reach agreement on mutually
beneficial terms of exchange, the result is an allocation of the commodities
among the individuals that must make at least one of them better than before.

Do you know these words?
to be compelled OBbITh 00S13aHHBIM
to imply noapa3yMeBarhb
among cpenu
transaction cieyKa
to involve BOBJIEKATh
allocation pa3mMelnieHue

YITPAXKKHEHUA

I. HaiinuTe B mpaBoil KOJIOHKE PyCCKHME COOTBETCTBUS CAEAYIOLIMX CIIOB:
to assume BO3MOXKHBII

purpose OTKJIOHSITh
to improve MPUHUMATh
possible npearnojaraTh
directly LHeb

to accept yJay4umaThb

to reject HanpsiMyIo
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competition MOCTOSTHHBI

to require B3aMMHO
consent corjacue
agreement KOHKYpEHLMA
constant TpeboBaTh
mutually corjaunieHue

I NN

I1. TlepeBenuTe NpenaoXeHUsI:

Your instructions should have been issued for the same sum in dollars.
The sum should have been remitted long ago.

The original Bill of Lading should be sent to us.

We ask you to return our advice which should not have been sent to you.
The funds should be credited to the account of the sellers.

I1I. PackpoiiTe cKOOKM 1 MepeBeIUTe MOIAIbHbIE [JIAT0JIbl B COOTBET-

CTBYIOLIEM BPEMCHMU.

L.

9.

10.

Today they (momkHbI OymyT) prepare the document for tomorrow’s
meeting.

In the late 1940s, the Japanese government (Moryio) maintain only a very
low level of living for the most part of population. However, the country
(cmoria) develop its industry by introduction of new technologies.

The country did not harvest enough crops last year, so it (Oblj1a BBIHY K-
nena) import additional foodstuffs.

Some small European industrialized countries (MoryT) provide large
credits for developing countries.

Some economists think that such rapidly developing Asian countries as
China and Taiwan (cmoryT) overtake the USA in high-tech in future.
Nowadays some goods manufactured in developing countries (MOTyT)
compete successfully in the world market.

The scientists (ciemyert) study better how people’s activities influence the
earth’s climate and ecology.

. Belgium (Beiny>x neHa 6n11a) specialize only in some manufactured goods,

for example, in cars.

Early in the 20th century, developing countries (He Moryin) enter the world
market as there were strong trade barriers.

A small nation (He mokHa) produce all manufactured goods as it (MoxeT)
import them at a lower price from other countries.

IV. IlepeBenute npeaioxXeHUs Ha PYCCKUM S3bIK, 0Opalllas BHUMaHUe

Ha repeBoJ UHPUHUTHBA.

L.
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2. The primary task of economic analysis is to make economic phenomena
intelligible by basing it on individual purposes and plans

3. Theaim isto demonstrate how economic analysis can generate information
that is valuable for us.

4. The object of this book is to explain how the market operates.

5. The function of the staff is to maintain the service of plants, to assist in
finding raw materials and to give advice if necessary.

6. The purpose of this book is to help the reader understand capitalism.

7. One of the reasons to study economics is to develop a better understanding
of where capitalism will be going in the future.

8. The usual method of scientific puzzle-solving is to carefully state a
hypothesis.

9. Our preferred method of research is to study an economic event or
institution historically.

10. The only solution is to buy even more of what is still the cheapest food available.

11. The fundamental idea is to examine the forces behind relative prices in a
causal sense.

12. The next step is to investigate the value of labor itself.

V. IlepeBenute TIpemIOKEHUS Ha PYCCKUIA SI3bIK, 0Opallasi BHUMaHHE
Ha riepeBoJ MHOUHUTHBA B PYHKIINU ONIPEACICHUS.
We shall study goods to be produced next year.
The problem to consider next is concerned with unemployment.
There are some other price fluctuations to be considered at this point.
There are some other groups of consumers to be mentioned.
Here are some more figures to be referred to later.

BRIl R

VI. Haiinurte B TeKCcTe MOJaAbHbIE TJ1aroJibl. BoIMUIIKUTE MpeaioXeH s,
KCII0JIb3Y$Sl BMECTO MOJAJIbHBIX IJ1aroJIOB UX 9KBUBAJEHTHI.

TEKCT 4

Labour Economics
Part 1

Labour economics studies the functioning of the market for labour,
its participants — workers and employers — and the resulting wages and
employment. It is an important subject because unemployment affects the
public most severely. Full employment is a goal of many governments.

Let’s have a look at major concepts of labour economics.

Labour force is the number of employed people plus the unemployed seeking
work. It does not include those who are not looking for work such as prisoners
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or the disabled, stay-at-home spouses, children or the military. Labour force
depends on the size of population and its natural growth, immigration and
retirements.

The unemployment rate is the number of unemployed workers expressed
as a percentage of the labour force. Natural rate of unemployment is a result of
time needed to find a job and of mismatch between workers’ skills and skills
demanded by employers. Unemployment beyond the natural rate results from
insufficient demand in economy.

Do you know these words?
stay-at-home spouse JIOMOXO03s11iKa
employment 3aHSTOCTD
unemployment 6e3padoTnua
labour force paboyas cusia
disabled HETPYI0CHOCOOHBIN
to look for HMCKAaTh
skills MacTepCTBO, HABBIKU
to result from MPOUCXOAUTH U3-34...

Part 2

Labour economics focuses on labour markets which are both similar to
markets of goods and differ from them. Perhaps the most important difference
is the way in which demand for labour influences its supply and price. In
markets for goods, if the price is high, more goods will be produced until the
demand is met.

If wages rise the supply of labour, in many situations, will not be increased.
The supply will not be changed or even less labour will be supplied as workers
take more time off to spend their increased wages.

Another difference of labour market from other markets is a greater role of
non-economic factors both for workers and employers. Workers more willingly
apply for jobs where they have personal connections and they are more willingly
hired there. Group membership, race or nationality of the worker influences
firms’ hiring decisions.

Do you know these words?
to meet the demand YAOBJIETBOPSTH CIIPOC
to influence BIUSITH
to increase YBCJIMNYUNBATDL, IOBLIIIATH
both...and Wu..u
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employer HaHUMAaTeb

to apply for... oOpalarbcs 3a YeM-TO
race paca
to hire HaHUMAaTb
YITPAJKHEHMU 51
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:
to study paboTonarenb
participant €CTEeCTBEHHBI i1
employer u3yyaTh
wage LIeJb
goal BBIPaxXarThb
todepend on  HacejeHue
population 3aBUCETh
to express Yy4acCTHUK
natural 3apaboTHas mnJjara
market MPOU3BOAUTH
to differ TPaTUTh
price MOBBILIATH
to produce paboTta (pabouee MecTO)
to rise PBIHOK
to spend peleHue
job OTJIMYAThCS
decision 1eHa

I1. BctaBbre npuvactus [ vum 11.

Large nations relatively well (providing/provided) with fundamentals may
follow the policy of self-sufficiency.

Small nations (imported/importing) large amounts of foodstuffs and
natural resources are more dependent on the world market.

The country (following/followed) the policy of self-sufficiency should rely
only on its domestic resources.

Enterprises (manufacturing/manufactured) final goods get higher profits
than enterprises which only export resources.

The government policy (restraining/restrained) trade cannot ensure
prosperity of such a country.

Protective tariffs (introduced/introducing) by the government last month
may only lead to conflicts in foreign trade.

The government (reduced/reducing) the import of foreign goods in the
country may make domestic producers less competitive.

The livestock (grown/growing) on this farm has been sold recently.
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9. Recently (increasing/increased) influence of monopolies can be restrained
by special government laws.

10. Universities (maintained/maintaining) high requirements to their students
are recognized for their better education.

I11. TTepeBenuTe NpeAOXEHUS HA PYCCKUIA S3bIK.
1. T haven’t yet looked through all the magazines sent to us from Moscow.
2. The machines ordered from the Moscow factory will arrive in a few days.
3. I have already corrected all the compositions written by the students in
(or: of) my group.
4. Show me the list of students learning English.
All the students taking part in this work must come to the Institute at six
o’clock to-night.
He gave me the list of newspapers and magazines received by our library.
While reading this text, I came across some interesting expressions.
Being a good engineer, he was able to fulfil this work in a short time.
In his article there are a lot of figures illustrating the development of our
industry.
10. He sat at the table looking through the correspondence received the day
before.
11. He showed us the list of goods exported by this organization.
12. The railway line connecting this village with the town was built last year.
13. The workers discharging the steamer will be free in an hour.

b4
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IV. HaiinuTe B TekcTe npuuyactus. HanuuivTe rjaaroibsl, OT KOTOPbIX
OHU 00pa30BaHBbI.

TEKCT 5
Investment

Investment as a term has two meanings:

1. Expenditure on the purchase of financial securities such as stocks and
shares. It is also called financial investment. Portfolio investment is undertaken
by persons, firms and financial institutions in the expectation of earning a
return in the form of interest or dividends, or an appreciation in the capital
value of the securities.

2. Capital expenditure on the purchase of physical assets such as plant,
machinery and equipment (fixed investment) and stocks (inventory investment),
i.e. physical or real investment.

In economic analysis, the term “investment” is considered to relate
specifically to physical investment. Physical investment creates new assets thereby
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adding to the country’s productive capacity, where financial investment only

transfers the owne

rship of existing assets from one person or institution to another.

The long-term significance of investment lies in the contribution it makes
to economic prosperity. Building new factories, adding new machinery and
equipment, and investing in new techniques and products enables industry to
supply a greater quantity of more sophisticated products and services to the
consuming public, while similar investments in social capital (schools, health,

etc.) are sure to ¢

ontribute to the up-grading of general living standards.

Do you know these words?
expenditure pacxobl
securities LIeHHbIE OyMaru
stocks obnaurauuu
shares aKIUU
to earn 3apabaTbiBaTh
return MpUOBLITb
interest MPOLEHT
assets AKTUBBI
fixed investment OCHOBHAas UHBECTUILIUSI
inventory investment VHBEHTAapHAas UHBECTULIUS
contribution BKJIaL
upgrading MOBBILIEHHUE Ka4yecTBa

I. Haiinure B
purchase
to call
institution
plant
equipment
to create
to add
ownership
prosperity
quantity
service
health

I1. IepeBenu
PYHIMS.

YIIPAKHEHUA

IIPaBOif KOJIOHKE PYCCKUE COOTBETCTBUS CICAYIOIINX CJIOB:
co3/1aBaTh
N00aBJISATh
Ha3bIBaTh
BJaJcHUE
3I0pOBBE
KOJIMYECTBO
MOKYTIKa
yupexKIeHUe
ycayra
MpoILIBETaHE
3aBOJI
obopynoBaHUue

TC Ha pYCCKI/IfI A3bIK, 06pama${ BHMUMAaHHEC Ha IIEPEBO/ I'c-
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Do you mind my closing the window?

His being appointed chief engineer at our plant is probable.
There is no chance of their calling on us tonight.

Seeing him this week is impossible for us.

There is no hope of your receiving a letter from him soon.
We were informed of the ship having arrived at the port.
You will excuse my asking you again.

We insisted on his coming with us.

Would you mind his coming to your lecture?

. They informed us of the cargo having been insured.
. Answering them immediately is the only way to sign the contract.

III. TTepeBenuTe Ha pycCKUU S3bIK, OOpaliasi BHUMaHWE Ha MEPEBOJ

TepyHIuS.

NV I NN

10.

11.

12.
13.
14.
15.

Have you got the means of helping him now?

She was quire disappointed at not seeing them there again.

What is worth doing at all is worth doing well.

Before signing the contract he wanted to get the approval of the chairman.
There was no chance of finding a vessel of the required size.

The sellers were informed of the importance of preparing the goods for
shipment immediately.

The arbitrators found that the shipowners had not exercised due diligence
by allowing the steamer to start without sufficient bunker coal.

The cost of repairing the damage sustained by the steamer through being
delayed in the ice is estimated at 4,000 roubles.

Extensions are being made to the factory with a view to increasing the output.
We insisted on the goods being packed in double bags.

We objected to the ore being shipped in bulk.

They informed us of the vessel having left the port.

We have heard of an agreement having been reached.

Can you depend on their executing the order carefully?

The buyers had not the right to transfer their rights and obligations under
the contract without the sellers’ consent being previously obtained.

I'V. IlepeBenute Ha pycCKUl S3bIK, OOpalass BHUMaHUE Ha MEPEBOJ

WHOUHUTUBHONM KOHCTPYKLIMU «ClIOXHOE MoJJIexXallee».

AU AW

He seems to know all about this matter.

The question appears to be of great importance to them.
The results of the test seemed to have disappointed them.
He seemed to want to do it himself.

He didn’t appear to be surprised at this news.

The goods don’t appear to have been packed very carefully.



7. He doesn’t seem to have been discouraged by his failure.

8. She seemed to have been waiting for a long time.

9. The plan proved to be a great success.

10. This plant seems to have been producing such equipment since 1946.
11. There seem to be no objections to their proposal.

12. There proved to be another solution of the problem.

V. lpoananu3upyiite TEKCT U BRIMUIINUTE Bce -ing hopmbl. Kaknmu
YacTSIMU PEYU OHU SIBJISIIOTCST?

TEKCT 6
The terms

In order to employ factors of production, a firm has to have finance. This
is usually divided into working capital and fixed capital. Working capital is
for purchasing single-use factors or ‘variable factors’. They are labour, raw
materials, petrol, stationery, fertilizers, etc. Finance for working capital can
be obtained from a variety of sources: banks, trade, credit, finance companies,
tax reserves, inter-company finance, advance deposits from customers and
the government. For example, a company may secure some funds through the
Enterprise Allowance Scheme which on conditions provides an allowance of
£40 per week for a year when starting a new business.

Fixed capital covers factors which are used many times—factories, machines,
land, lorries, etc. Some finance for fixed capital is therefore required initially
for advance payments on factory buildings, machinery and so on before the
firm is earning revenue, though it is possible to convert fixed capital into
working capital by renting buildings, hiring plant and vehicles or by leasing
or buying on deferred payments through a finance company.

Thus many companies, especially new ones, raise capital, both working
and fixed, by borrowing, by selling their shares.

Do you know these words?
advance deposit aBaHCOBBII cUeT
working capital 00OpOTHBIH Kanurall
allowance JIeHEeX HbIe BBITJIAThI, TOMOIb
variable (factors) M3MEHUYUBbII, HEYCTON YN BBI
fixed capital OCHOBHOI KaIrtuTa
working capital 00OpOTHBIN (paboumii) KanuTal
to raise capital cobupaTh (KanuTal) IeHbr U
tax HaJjor
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customer MnoTpeduTenb

through yepes, MoCpeaCcTBOM
vehicle TPAHCIIOPTHOE CPENCTBO
to borrow OpaTb B3aliMBbl
share aKkLus
term TEPMUH
VITPAZKHEHU A
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIOIINX CJIOB:

to employ TOPTOBJIS

to devide MpeaoCcTaBIsITh

labour pa3nensiThb

raw materials  KMcmoab30BaTh

trade TPYn

to provide 3eMJIs

per week TpeboBaTh

land ChIpbE

to require B HEJIENIO

I1. TTocraBbTe raroibl, CTOSIIIINE B CKOOKAX, B CTpagaTeIbHbIN 3aJ10T U B
TpeOyeMOM 10 CMBICTY BPEMEHU:
Don’t enter the room! A student (to examine) there.
The event (to report) by the newspapers.
After the accident he (to take) home immediately.
I am sure that his work (to complete) the end of the month.
Some new magazines just (to bring). Would you like to look them through?
We think that the ship (to charter) next week.
The goods not (to examine) yet at custom-house. When they (to examine)?
The question which (to discuss) now at the conference is very important.
This bridge (to build) in 1954.
. The documents not (to sign) yet by our manager. They (to check) now.

SO NOU e W

I11. U3menuTe ciienyouime npeagoxXeHus, ynoTpeouB rjaaro B popme
CTpanaTesbHOTO 3aJI0Ta.
Oo6pa3semn: The company is going to hire a lot of workers. — A lot of workers are
going to be hired (by the company).
1. The economist is seeking data about unemployment in this area.
2. The law will not increase the retirement age.
3. The local government has created some jobs for the unemployed this year.
4. Americans spend more money on sports and healthy food now than twenty
years ago and they are going to spend still more money on them.
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The law limits the number of hours worked by workers every day.
Economics neglected unpaid labour in the past.
The government will raise the minimum wage.

Now

IV. IlepeBenuTte npeaoxeHus, coaepxammue UHOUHUTUB B PYHKIIUU
00CTOSITeILCTBA LIEJIH.
1. This method is not accurate enough to give reliable results.
2. In order to understand the importance of this event you should know all
the facts.
The other firms can hold their prices in order to gain market share.
4. The trust or cartel assigns production quotas to its members in order to
keep production down.
They had to become even bigger in order to control prices.
The firm will normally adjust its output in order to maintain its target price.
Large U.S. firms need to merge in order to compete with large Japanese
and European competitors.
8. Government can head off inflationary pressure by running a surplus budget
in order to reduce demand.

w

Now

V. Haiinute B TekcTe UHGUHUTUB LEHU.

VI. Haitnute B TeKCTe NMpeagoXeHusl, B KOTOPbIX yIOTpebJisieTcs cTpa-
aTeJIbHBIU 3aJI0T.

TEKCT 7
Attractions of mixed economy

Mixed economy as a system is, at first view, attractive. The economy adjusts
automatically to meet changing demands. No planners have to be employed,
which allows more resources to be available for production. Firms tend to be
highly competitive in such an environment. New advanced products and low
prices are good ways to increase sales and profits. Since all firms are privately
owned they try to make the largest profits possible. In a free market individual
people are free to have their own interests. They can become millionaires,
for example. Suppose you invent a new kind of car. You want to make money
out of it in your own interests. But when you have that car produced, you
are in fact moving the production possibility outwards. You actually make
the society better by creating new jobs and opportunities, even though you
become a millionaire in the process, and you do it without any government
help or intervention.
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Do you know these words?

government MPaBUTEIbCTBO, TOCYAAPCTBO
intervention BMEIIATEJIbCTBO
to meet demands YAOBJIETBOPUTH CITPOC
since TaK KakK, MOCKOJbKY
which 4TO
to employ HaHUMAaTb
environment cpena
(to) have to JIOJIXKEH, BBIHYXKAEH
to move outwards nepeMeraTh 3arpaHuIy
jobs pabouue MecTa
YITPAJKHEHMU 51
I. HalinuTe B mpaBoii KOJJOHKE PYCCKUE COOTBETCTBUS CJIEAYIOUIUX CIIOB:

attractive NpUObIIbL

available MOBBIIIATH

competitive 1eHa

price nponaxa

to increase NpUObIIbL

sale TPUBJICKATEIbHBIIA

profit JOCTYTTHBIN

kind BO3MOXHOCTb

to invent BUJL

opportunity KOHKYPEHTOCTIOCOOHBI A

I1. TepeBenunTe Ha pycCKUii sI3bIK, OOpalliasi BHUMaHue Ha MHPUHUTHUB B
(YHKIAU ONIpeAeICHU .
1. The first question to be considered is whether the offer of the sellers should
be accepted.
2. A committee headed by him began to work out a resolution to be presented
to the conference.
The plan of our work will be discussed at the meeting to be held on May 25.
4. The barges loaded with coal were lowed to the dock where the vessel to be
coaled was lying.
The buyers agreed to accept the goods at a price to be fixed by arbitration.
6. We have discussed the terms to be included in the letter of credit to be
opened by the buyer in favour of the seller.
7. The hydroelectric power plant to be constructed in this region will be of
great importance for the development of local industries.
8. The new vessel to be launched in a few days is equipped with powerful engines.

w

b4
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9. The goods to be loaded on this steamer consist of different kinds of
machinery.

I11. TTepeBenuTe npenyiokKeHUS Ha PYCCKUA S13bIK, OOpalliasi BHUMaHUe
Ha MepeBoJ] CTPAIATEILHOTO 3aJI0Ta;
1. My watch is made of steel.
2. Knives are generally made of steel.
3. These books are sold here.
4. These books are sold out.
5. As my watch was broken, I had to buy a new one.
6. The roof of my house is painted every year.
7. The letter is written in ink.

IV. TlepeBenute npeaokeHUsI HA PyCCKUIA I3bIK, OOpatiasi BHUMaHUe

Ha nepeBoJ, in order to.

1. Asthe working class spends more, the capitalist class will invest more in

order to meet the growing demand.

The application of this new philosophy was necessary in order to save capitalism.

A school district issues bonds in order to build new schools.

Costs are determined by the prices of the things the company must buy or

rent in order to produce its products.

5. If there is a shortage of new automobiles, manufacturers will schedule
more overtime or add another shift in order to take advantage of the high
levels of demand.

6. In order to answer this question, we need to know the wage rate and the

interest rate.
The firm decreased its productivity in order to increase profits.

. A new culture of management had to be developed in order to administer

multi-plant firms.

bl

oo =

V. HaiiguTe B TeKcTe MpeaokeHUsl, B KOTOPbIX UCIOJb30BaH CTpaaa-
TeJIbHBIN 3aJI0T.

TEKCT 8
Production function

Production function is a function that shows for a given state of technological
knowledge the relationship between physical quantities of factor inputs and the
physical quantities of output involved in producing a good or service.

It is important to emphasize that factor inputs can be combined in a number
of different ways to produce the same amount of output. One method which
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is technically the most efficient is the one which uses the only small amounts
of labour, while another method may employ large quantities of labour and
only a little capital. In physical terms the method which is technically the
most efficient is the one which uses the fewest inputs. Economists are more
concerned with the costs aspects of the input-output relationship, specifically
the least costly way of producing a given output. Such relationships can be
analysed using special schemes, formulae and maps.

Do you know these words?

formulae (pl. ot formula)
to depend on/upon smth

(hopmybl
3aBUCETb OT Yero-aubo

to depict n300paxarb, ONUChIBaTh
notation 3aMUCh; U300paKeHUe YCIOBHBIMU
3HaKaMmu,liudppamu, OykBamu
to combine COENVHSATh
terms BBIpaXKeHU s, SI3BIK, CTTOCOO BHIPAXKEHU ST,
yCJIOBU ST
specifically crenrajbHO,0CO00€HHO;B YACTHOCTHU
the same TOT X€ CaMBblii, TAKOM Xe
given JTaHHBI
state COCTOSHUE
to involve BOBJIEKATH
few HECKOJIBKO, HEMHOTO
costs U3OEPKKU
input BJIOXKEHU S
output 00beM MPOU3BOACTBA
costly JOPOTrOCTOSII U A
YITPAJKHEHMU 51
I. Haiinure B mpaBoii KOJOHKE PYyCCKUE COOTBETCTBUSI CISTYIONINX CJIOB:
function 3G eKTUBHBII
relationship bynkuus
quantity Kapra
a number of psia
efficient B3aMMOCBSI3b
a little KOJIUYECTBO
map MaJjo

I1. TlepeBenunTe TIPEmIOKCHUS Ha PYCCKUI SI3BIK.
1. Itisnecessary for you to be here at 5 o’clock tomorrow.
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It is easy for him to do it.

It is difficult for us to do this work in such a short time.

It is very difficult for her to translate this article.

It is very difficult for us to get this information.

It is necessary for the documents to be sent off to-day.

It is very important for him to receive the documents this week.

Nova

I1I. TTepeBenuTe npenyiokKeHUS Ha PYCCKUA S13bIK, OOpalliasi BHUMaHUe
Ha BpeMEHa CTpajaTeJIbHOTO 3aJ10ra.

1. My watch is fast, it cannot be relied upon.

2. The time of shipment has been agreed upon.

3. The goods were disposed of by auction.

4. The clause proposed by the buyers was objected to by the sellers.

5. We cannot change the terms of payment which were agreed upon negotiations.

6. The speaker, who was listened to with great interest, spoke about the use
of atomic energy for peaceful purposes.

7. The terms agreed upon were advantageous for both the parties.

8. The article of the agreement objected to during the negotiations must be

reconsidered.

IV. IlepeBenuTe MpeaIoXKeHWs Ha PYCCKUIA I3bIK, OOpallas BHUMaHUe
Ha pa3anyuHble GyHKIIMY CJIOBA One.
One must do one’s duty.
One sees other people’s faults sooner than one’s own.
When one does not know grammar, one often makes mistakes.
In such circumstances one sometimes doesn’t know what one should do.
One might have expected a politer answer from him.
One must always observe the traffic regulations.
His room is good, but the one you live in is much better.
I liked this story very much, but I disliked the one you told us yesterday.

0N oL AW

V. Haiinute B Tekcte ciaoBo one. O6paruTe BHUMaHUE Ha TO, KaKylo
(GYHKIINIO OHO BBITIOJTHSIET ¥ KaK IIEPEBOIMTCS.

TEKCT 9

Theory of the Consumer
Part 1

The individual consumer or household is assumed to possess a utility
function, which specifies the satisfaction, which is gained from the consumption

of alternative goods. The consumer’s income or income-earning power
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determines which quantity is available to the consumer. The consumer then
selects a good that gives the highest possible level of utility. With few exceptions,
the consumer is treated as a price taker — that is, the consumer is free to choose
whatever quantities income allows but has no influence over prevailing market
prices. In order to maximize utility the consumer purchases goods so that the
rate of substitution for each pair of goods equals the rate of substitution given
by the ratio of their market prices. This basic utility-maximization analysis
has been modified and expanded in many different ways.

Do you know these words?
utility MOJE3HOCTh
satisfaction YIIOBJIETBOPEHUE
alternative good aJIbTEPHATUBHBIN TOBAP
quantity KOJIMYECTBO
to treat OTHOCUTBLCA K YEMY-TO, BOCIPUHUMATH
rate HOpMa
to purchase MOKYTIaTh, Ne1aTh MOKYITKA
to equal paBHSATHCS
Theory of the Producer
Part 2

The individual producer or firm is assumed to possess a production function,
which specifies the quantity of output produced as a function of the quantities
of the inputs used in production. The producer’s revenue equals the quantity
of output produced and sold, and the cost to the producer equals the sum of
the quantities of inputs purchased. Profit is the difference between revenue
and cost. The producer is assumed to maximize profits. Profit maximization
requires that the producer use each factor to a point at which its marginal
contribution to revenue equals its marginal contribution to cost.

Do you know these words?
to possess BJIaIeTh, 00JIaaTh
to specify OIpeneIIsATh
difference pa3HHIIA
marginal npeaesibHbI i
cost CTOUMOCTD
to assume JIOTTYCKaTh
to produce MPOU3BOJUTH
revenue JTOXO]T
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each KasK bl

point TOYKa
contribution BKJIaJ
YITIPA2KHEHU 51

1. Haiinure B IpaBoit KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:
consumer BJIAJIETh

household paciupsTh

to possess BBIOMpPATh

income U3MEHSITh

to modify MUHUMU3UPOBATH
to choose NoTpeOdUTENb

to maximize JIOXOZ,

to expand JIOMOX0351ICTBO

I1. TlepeBenuTe MpeaJIOXKEHUS HAa PYCCKU SI3bIK, 0Opaniasi BHUMaHUe
Ha UHOUHUTUBHBIN 000pOT «ClI0XKHOE MOoAJIexXallee».
The members of the committee were expected to come to an agreement.
Many buildings were reported to have been damaged by the fire.
The delegation is reported to have left London.
Many people are expected to attend the meeting.
This mine is considered to be the best in the district.
The results of the experiment can’t be considered (to be) bad.

AL AW~

I11. TTepeBenrTe NpeAIOXEHUS HA PYCCKUIA S3bIK.

He is said to be in Moscow.

The agreement is expected to be signed this week.

The expedition is reported to have left on the 15th May.

He is known to be of a different opinion on this question.

He is considered to be one of the best pilots in our country.

This house is said to have been built about two hundred years ago.

AU AW

IV. Onumure HeCKOABKMMHU (Ppa3zaMu TEOPU IO MOBENCHU I TOTPeOUTEN S
U IPOU3BOAUTENSI.

TEKCT 10
World bank

The World Bank is the world’s intergovernmental organization concerned
with the external financing of the economic growth of developing countries.
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The official title of the institution is the International Bank for Reconstruction
and Development (IBRD).

Before recommending a Bank loan, the staff of the Bank must be
reasonably satisfied that the productivity of the borrowing country will be
increased and that the prospects for repayment are good. A country must
be judged creditworthy. Engineering investigations are frequently carried
out to determine the probable relation of a proposed project to benefits and
costs. Increasingly, however, the Bank has shifted somewhat away from project
lending (e.g., for a dam or a highway or a port); it has become concerned with
education and other human services, the environment, and, through loans,
the modification of governmental policies that are thought to have impeded
long-run growth. The Bank has also paid increasing attention to the evaluation
of previous lending. Recently, moreover, it has acceded to the requests of the
American secretary of the treasury to help to ease the huge, outstanding, largely
commercial-bank debt.

Do you know these words?
the treasury Ka3HavyelcTBO
to finance (bunaHcupoBarh
to develop pa3BUBATHCS
loan 3aeM
to borrow OpaTh B3aliMbl
productivity MPOU3BOAUTETBHOCTD
to carry out OCYIIECTBIATDH, IPOBOIVTH
costs U3OEPKKU

benefit MOJIb3a; MPUOBLITHL
increasingly Bce OoJible

to lend JlaBaTh B JOJT

adjustment peryJimpoBaHue
modification M3MEHEHHE

debt JOJT

to acced to a request corIamarhbes ¢ MPoCchooi
to impede NpensTCTBOBATh, MellIaTh

YIPA2KHEHUA

1. Haiinure B IpaBoil KOJIOHKE PYCCKUE COOTBETCTBUSI CIIEAY IOIIUX CIIOB:

intergovernmental CJIY>XKeOHBII mepcoHan
staff OLIEHKAa

to increase MOJUTUKA
investigation MOBbILIATH
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to shift CIBUraThCs

education HUccaenoBaHUe

policy MpeabL oy Ui
evaluation MEXTOCYJapCTBEHHbIA
previous oOpa3zoBaHue

I1. PackporiiTe ckoOKU, UCTIONb3YsI UHOUHUTUBHBII 000pOT «Cl0XHOE

TOTIOJTHEHVE»

L.

TN NERN G

—_ ~
S oo~

11

14.

We made the sellers (pack) the goods according to the requirements of
the contract.

We expect the goods (arrive) tomorrow.

If you want us (make) the work quickly you should let us (start) at once.
Would you like us (send) the consignment now?

They won’t let the goods (leave) the customs till the shipping documents
have been checked.

Please let us (know) the results of your inspection as soon as possible.

He made us (wait) for two hours.

We’d like the buyers (remit) the funds to our account.

We want you (answer) promptly.

. We saw the ship (go out) of the port.

. The terms of delivery allow us (use) all kinds of shipment.
12.
13.

We expect our order (receive) most attention.

We want you (effect) payment within three days upon the receipt of shipping
documents.

We expect you (open) a credit at the Alpha Bank.

I11. TTepeBenuTe npenyioKeHUS Ha PYCCKUIA S13bIK, OOpalliasi BHUMaHUe

Ha UHOUHUTUBHBIN 000pOT «ClI0XKHOE MOoAJIexXallee».

L.
2.

w

Now

They are very likely to take part in this work.

The vessel is not likely to arrive at the port of destination before the st of
October.

They are most likely to have concluded the agreement.

This house is likely to have been built at the beginning of the nineteenth
century.

He is sure to be appointed manager of the factory.

He is sure to like his new work.

The agreement is certain to have been signed.

IV. IlepeBenute Ha pyCCKUIA SI3BIK:

The goods sold under contract Ne 25 are known to have been shipped.
The rest of the goods under the contract are likely to shipped in the first
half of September.
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3. Oil has been known to exist in Azerbaijan since ancient times.

4. The cargo does not seem to have been damaged by the storm.

5. This invention is considered to be of great importance in shipbuilding.

6. The negotiations are likely to continue until Saturday.

7. The cargo of this steamer is stated to consist of 3,000 tons of wheat and
2,000 tons of barley.

8. The steamer, which is believed to be approaching Istanbul, is sure to arrive
in Odessa at the end of this week.

9. The parties are understood to have reached an agreement.

10. The parties are reported to be considering the question of extending the
agreement for 6 months.
V. IlepeBenute Ha pyCCKUI SA3bIK:

1. The devaluation of the pound sterling is known to have led to a rise in the
prices of all goods imported into England.

2. The opening of the conference is understood to have been fixed for the
15th December.

3. The price of this metal in England is stated to have risen by 11.6 per cent,
in September, 1956.

4. Imports of copper into that country in October, 1954 were stated to be
22,441 tons.

5. A great number of inventions is known to have been suppressed by
monopolistic industrial associations in capitalist countries.

6. Many million tons of coal reserves are known to exist in that district.

7. Two shiploads of ore expected to arrive shortly will be sent to that works.

8. The experiment, which is believed to have proved most successful, will be
discussed at the conference.
VI. 3anaiite 4 Borpoca K TEKCTY, TPeBAPUTETbHO BBITTUCAB KJTIOYEBbIC

cJioBa.
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KOHTPOJIBHBIE PABOTbI

BAPUAHT 1
Economic system

A society needs to choose an economic system — a particular set of
institutions and a coordinating mechanism — to respond to the economizing
problem. Economic systems can differ as to (I) who owns the factors of
production and (2) the method used to coordinate and direct economic activity.

The private ownership of resources and a system of markets and prices to
coordinate economic activity characterize pure capitalism. In such market
systems each participant acts in his or her own self-interest; each individual or
business seeks to maximize its satisfaction or profit through its own decisions.
The system allows the private ownership of capital, communicates through
prices, and coordinates economic activity through markets — places where
buyers and sellers come together. Goods and services are produced and
resources are supplied by whoever is willing and able to do so. The result is
competition among many small, independently acting buyers and sellers of
each product and resource. Thus, economic power is widely dispersed.

BAPUAHT 2
Advertising

Advertising is defined as the nonpersonal communication of information
about products, services, or ideas through various media.

Advertising may be classified by target audience (consumer, industrial), by
geography (local, international), by medium (radio, newspaper, television), or
by its function or purpose (product advertising, noncommercial advertising,
action advertising).

Advertising began in ancient times when most people could not read or write.
As manufacturing and communication technologies developed, so did advertising.
Printing was the first major technology to affect it, and cable television and
computers are the most recent. Since World War I1, advertisers have attempted
to differentiate products through different strategies and techniques.

As a marketing tool, advertising serves several functions: to identify and
differentiate products; to communicate information about the product; to
induce the trial of new products by new users and to suggest repurchasing by
existing users; to stimulate a product’s distribution; to increase product use;
to build brand preference and loyalty; to lower the overall cost of sales.
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BAPUAHT 3
Principles of taxation

There are three main principles of taxation: ability-to-pay principle,
benefits-received principle, redistribution of income principle.

Ability-to-pay principle of taxation implies that taxation should be based
on the financial standing of the individual. Thus, persons with high income
are more ready to pay large amounts of tax than people on low incomes. In
practice, the ability-to-pay principle has been adopted by most countries as
the basis of their taxation systems (progressive taxation).

Benefits-received principle of taxation implies that those who benefit most
from government-supplied goods and services should pay the taxes .

Redistribution-of-income principle of taxation implies that the taxation
system, together with state welfare programmes, should be used to benefit
poorer households at the expense of richer households. A number of British
researchers tried to assess the extent of income redistribution. It turned out that
the poorest 20% of the population receives only 2% of total original income,
but after taxation and state benefits they receive 10% of total final income.

BAPUAHT 4
Monopoly

Monopoly is a market structure with only a single seller of a commodity
or service dealing with a large number of buyers. When a single seller faces a
single buyer, that situation is known as bilateral monopoly.

The most important features of market structure are those, which influence
the nature of competition and price determination. The key element in this
segment of market organization is the degree of seller concentration, or the
number and size distributions of the sellers. There is monopoly when there is
only one seller in an industry, and there is competition when there are many
sellers in an industry. In cases of an intermediate number of sellers, that is,
something between monopoly and competition, there can be two sellers
(duopoly), a few sellers (oligopoly), or many sellers (atomistic competition).

Today the term monopoly includes any group of firms which act together
to fix prices or levels of production.
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JOIIOJIHUTEJIbHBIE TEKCTbI

TEKCT 1
The Time goes even further ahead

The Times is the most successful national newspaper in Britain. Average
daily sales have risen by more than 120,000 since the weekday price was
reduced to 30p in September, an increase of 26 per cent in six months.

Sales in January were up by 16,000 compared with December. That success
continued last month, when sales increased by another 12,500 — against a drop
of 18,000 for the Daily Telegraph.

The Times is now 63,000 ahead of The Guardian and 175,000 ahead of The
Independent, which now sells fewer copies than any other national daily and
was overtaken last month by the Financial Times.

At 40p on Saturdays, 30p less than the Daily Telegraph, The Times is the
best value, with the best writing, of any quality paper.

TEKCT 2
They do not toy with competition

There are 5 major companies in the USA competing in toy production. This
competition in quality and product design is very active, though in general the
toy industry is blooming and the share prices rise every year. So the toys bring
joy not only to kids but grown-up shareholders as well.

Some of the toy companies produce mainly traditional toys, like famous
Barbie (the Mattel Corporation) or Playdoh (the Tonka Corporation), while
others try to capture a bigger market share by producing battery-powered toys
(like Micromachines metal toys made by Galoob Corporation).

Some companies have entered this highly-competitive market with
attractive board games. But the real threat to toy makers of the traditional style
came when video games broke into the market. The most powerful competitor
is the Japanese company Nintendo whose sales of hand-held video games are
almost 20 per cent of the American toy-market. The American companies
are also trying to increase their foreign sales. When the competition is tough,
the competitors may come up any moment with something new and exciting.
So let us wait and see.
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TEKCT 3

In the industry biosphere, only the strongest survive
Part 1

Clusters is a term given to geographical areas in which a large number of
companies working in the same industry or sector have concentrated. They
are a common feature of active and healthy economies.

Examples include Silicon Valley in California, the high-technology and
biotechnology concerns around Cambridge in the UK, and the aerospace and
engineering companies around Toulouse in France.

Companies in a cluster are locked together in a kind of interdependence,
like organisms in a biosphere. They compete for market share, employees and
resources. They also rely on each other. Acting together, they generate skills
and knowledge of their particular sector that form a kind of critical mass on
which all the members can draw.

TEKCT 4

In the industry biosphere, only the strongest survive
Part 2

Clusters often begin with a single company: Silicon Valley’s technology
cluster famously began with Hewlett-Packard. These successful companies
generate talented managers and entrepreneurs, who in time leave to set up
new concerns. As these grow, skilled employees begin to migrate between
businesses, seeking the best opportunities.

There are really only two ways to survive in a cluster environment: to grow
continuously into the biggest fish in the pond, or to develop self-dependent
systems and move out, relocating to a region where competition will be less
vigorous. The former strategy was adopted by Larry Ellison, who saw early that
the only way to win in Silicon Valley was to become big. The latter path was
pursued by Bill Gates and Paul Allen at Microsoft: they preferred independence
and moved to the Pacific north-west.

Clusters are often favoured by politicians and economic planners, who
see opportunities for overall prosperity. But working in a cluster is not for the
faint-hearted. They offer little security and few safety nets. As in a biosphere,
only the strong survive.
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TEKCT 5
Spot market and quotation

Spot marker is a market for the purchase and sale of commodities and
financial instruments for immediate delivery (usually, within two working
days).

Spot prices for commodities and financial instruments transacted at
different locations are harmonised by arbitrage.

Arbitrage means the buying or selling of commodities and financial
instruments between two or more markets in order to take profitable advantage
of any differences in the prices quoted in these markets. By simultaneously
buying in a low-price market and selling in the high-price market a dealer
can make a profit from any disparity in prices between them, though in the
process of buying and selling the dealer will add to demand in the low-price
market and add to supply in the high-price market and so narrow or eliminate
the price disparity.

TEKCT 6
‘Electronic’ money

Banknotes or checks are no longer required to make payments. Automatic
teller machines, which allow cash to be dispensed to bank customers even
when banks are closed, cannot be considered a new form of money. Rather,
the developments in question are known as the point of sale (POS) system,
which allows for cashless shopping in retail stores or gives bank customers the
opportunity to make transfers via videotext T'V.
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